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1. fHT o1 & T Jou WR eifdd I &

YT P & -

Excess of face value over issue price of

a share is called :
(A) @19/ Profit
(B) dcer/Discount
(C) & /Loss
(D) iy M4/ Security premium
1. (B) « 9ccI- foxi 9, g S9 Rfcr &1
RISR T S BH B foTy IR
R @l B & S q |
* BT TP JaT AR GRET B forw
I I T DT B S & AR
& SRIER BRI & 7 9 |
S & e CA Ca RS AN CER G )
IS B e 4 3 B & Al
T IR 3 YT SRR DT ATH
FEdl Tl
. Bf- I fordh avg 1 faspar [
TP DY A X BH B, Al D
IR ¥ TS SARIRT D B B
zl
gfergfr iR afrgferll & s
I IR TG I $ 91 B R
B gfrfar M & w9 A ST S
Bl

2. AU g@el R 1 ufauras far o
Scalar chain principle had been given by:

(A) U, S, R A/F. W. Taylor
(B) T %A A/Henry Fayol
(C) T W41 7/Elton Mayo
(D) Ha¥T 99% W/Max Weber
2. (B) * TR %A B & G SOl
T G- RIg<aR o |
+ SR FaAR YR HT A

Rigra fawRad fear g 204t
TS B YR H G YA o |

BT STH AT ST & |

qIforsd

(&1 9g4-9A)

* Teed WAl & AAER 9T Uh
AHITE el & |

o HRT 9 T STH THTSTRIS 3R
RIS ST o |

3. YSvd o &9 § YIDT Bl B

e #=a §°?
In what order do managers perform the
managerial functions ?

(A) frarsm, |1es, faason, fademy/
Planning, organising, controlling,
directing

(B) e+, e, fadem, fa=mn
Organising, planning, directing,
controlling

(C) e, e, e, =
Organising, directing, planning,
controlling

(D) frarsm, e, fadem, =
Planning, organising, directing,
controlling

. (D) * Y% & IR AMT SR (e,

T, e, =T

o YD g1 fhdl 9 BRI BT IRF
TR W UBel SHP! AT IS
ST & S®T & (o dad & |

* |G BT AF & AT B A
P AN B AR wg fHA e
S B fory |uIfed & X&r ¥
VT TS AT &, ST fBey
I H B foRy HiTed aXaM
AT B B |

. fem 9' dfen ® e s
frd & faslia a3, e
TR H YA 9 FHfRd BRe qei
PRI &3 H T YADT B FHS
# eI T Bl B

o R 6T & B H I
AT § | FHI=I0T TAferdl b1 Siram
H G HRAT B |

4. ®H & fqued W BH 6 FRIRRAT BT Il

WY H AR BT ST & S

On dissolution of a firm, the assets of firm
are transferred to realization account at
their :

e fafer - 18-08-2021

(A) I Hed UR/Book value

(B) STSIN HT Ux/Market value

(C) il UMY HeF YR/Realizable value
(D) WTEIERI & 7Y gY WeAf qod IR/

Agreed value among partners

. (A) « TH @ fIEed IR BH & FHRmE

BT ARGl W H BRI b
IR & S RS e TR |

. TS AEEN $H @ [dueT & w
H ST ST arelt Yiohar | B @
[ FuRrdl & gt a1 A1 |

o THGI Y STaIRAT BT IARH
[T &R @Il BT qHST
NIEC R

« TP UM BH BT faeed aif
ERT & WHfed U A b
9 fpy U @R wwEd @
T R BT R B |

. frefafea 4 1 {64 o ey & wfferd

el e ST & ?
Which of the following is not included in
Agriculture Income ?

(A) IS0 I | 3MF/Income from
growing flowers

(B) P 91 TR S HRI P1 {11/ Rent
of Agricultural land for agriculture
work

(C) T A B WIS TR BH arell
M /Income from purchasing of

standing crop

(D) B &4 & M /Income from
agricultural work

. (C) + 39 YPR ¥ WX ST H & B8

|l & fb Ml A1 fRRIER
BT ART A R 9 W) N R
BT W BH alell o BN M
FHEATN & |

o P YA F U febRra sreran T
Td HN & STANT H A alel 9ad
I ST N B S BT O F AT
Bl

TR | 1



o TS Bl Bl WRIGT TR B dTell
T B P AT Pl & |

6. ST 3711 T BRI fobar ST & i orer goi

e SfYe fesar Siar ®

When shares are forfeited, share capital
account is debited by :

(A) o/ & aifed A W/Face value of

shares

(B) erel o= /AN T &I |/ Called up
amount of shares
(©) ﬁ?ﬁiﬁﬁ'ﬁ?ﬂﬁ/%id up value of
shares
(D) 371 TR SQy GRIRT H/Unpaid
amount of shares
. (B) * BRI P ¢ FIIY T B PRUI
T B FRRIERTT IR 3l U)
T TR BT 372N 6T BROT ¥R &
Y H A B |
o HN-FHM ARTYRSD 3Tafed el I
T AT Afeeh BT 1 I Tl
X UN @ v Rafa # wF @
PR BT AIBR BT B |
o 19 SN BT &ROT fohaT Il T T
T XBH S b S B |

o ST IR B W BRI b
T ER0T GO & |

. e & SR RIgTT & 319X -

According to the Malthusian theory of
population :

(A) ST BT w0 A TGl &/
Population increases arithmetically
(B) @™ SeUTes SO ®u |

gadl %/ Food production increases
geometrically

(C) Ve STl w9 W gadl ©/

Population increases geometrically

(D) GHT (A) Td (B)/Both (A) and (B)

o STRIUET SIEE] SR D]
TCA T AMYR T ISP TRIC
SRR SR ST ¥ A& ARl
DI el AT |

. FrefeRed gamell 9 ereien v9 iy

0T TG BT AT DTG

AGRAWAL =XAMCART

IIIR M : T 3,200 reney smaferRad faban
Sisikd

&R N : ¥ 8,000 Bae 70% I B P

A
&R O : % 6,000 Bae 60% T B B

SRGINE

SER P : % 4,000 e Reifer wRIe, b1
& T B o T

With the help of following information

calculate provisions for bad and doubtful
debts

Debtors M : ¥ 3,200 Bad to be written off

Debtors N : ¥ 8,000 expected to realise
only 70%

Debtors O : ¥ 6,000 expected to realise
only 60%

Debtors P : ¥ 4,000 financial condition
very poor, no recovery is likely

(A) % 8,800 (B) % 12,000

(C) 34,800 (D) % 4,000

. (A) 3200

2400
+ 2400
8000
+ 800
8800

o S T SRR @ & foRy yeamem
¥ fq fhar TR T S Ny
0T BEd § |

4000 — 3200 = 800

. 319, 2019 BT A &R T 25,000 &

[T YT 0T 3 1,000 &, A IR IR
TR G BT I 2% AT YT 0T B R
Y B & 5% B, AN STERI TR BE B
<TRT BT

On 318 March 2019, total debtors are
¥ 25,000 and bad debts are ¥ 1,000, so if
rate of discount on debtors is 2% and rate
of provision for bad debts is 5%, then the
amount of discount on debtors will be :

(A) T 456 (B) T 475
(C) T480 (D) % 500

. (A) « ¥ PAE A a0l SRR B

THE BRI Al SR © | ol SaRI
H ¥ Ffoeax gg a1eari )
T & fory wfafer o S 1

« SR TR Bl & fore e wifer
% Dr. &7 ¥ e S & |

« ISR R B @ fow g #
Ry g § iy @ <FeRT A
W e a1

10.

10.

11.

11.

ISR ¥ AR
Collection from debtors :

(A) ITe], FFUTd EIETAT & /Decreases
current ratio

(B) ] 31U QI &/ Increases current

ratio

(C) =1e], U TR PIg YHIG el Srera/

Has no effect on current ratio
(D) SNYETHAT AT H FIR PRaAT &/
Improves the solvency ratio
(C) * TR | HUBYI @Te], UM TR
PIS YA T8 S & |
* TP AAGR VP SHIS & Sl fbell 31
SHTS B 1T TS 0T B THAT 8 |
. TPE TH A, Th B, TH
WRBR, Th HU I BIg Y
B AT B SN 8 |
TrRIE &1 HerIaT SUeTey Bl ¥, HEeATdl
¥
The form of organisation in which expert

assistance is available to line managers is
called :

(A) X¥rg |4/ Line Organisation
(B) SffT 169/ Committee Organisation
(C) e e/ Functional Organisation

(D) Y& U9 faRist 76/ Line and Staff
Organisation

(D) + IE AISATHD AT B AT

T YR Ey B |

* ST AU AT AP TS b o
H off W S B

. BRITHB FITST Th YBIR Bl
TGATHG @l & Sl Hae &l
g B YR W fagysiar &
R &1 ST BT B |

o THH |1 AT W AR AfRT B
B R amiiore deer arim ST
T

3T Tee & o AfAfay, safaraa &1 7

THAHRYT 781 & | A I fdrl

P 5

12. T4 ST STIU &

Inventory turnover ratio is :

(A) TPaRTerd STguTd/ Activity Ratio
(B) YT 31U/ Profitability Ratio
(C) eNE &WaT U/ Solvency Ratio
(D) ARerar 3rgurd/Liquidity Ratio



12.

13.

13.

14.

14.

(A) » forareiiern sgu & T Seed
{eer 1 Bl ARy qerm yerere
BT PRIGRICIAT Bl HATHT BT

B B

« ATVSISRAT I FEq D
RIS IR & JIROIF ST
LD ECIDREE L o R | Gl S G
B AT YT HRA 5 |

o IAER B KT SN &HAT B
e gureaRal & gfa i
BT R HRAT 8 |

< T A9 @ forg R F gata
FAfRI &, RO U Fed © |

FrfeRed % 1 o A e gafgae
& TP TG 6§ ?
Which among the following is not a
technique of Business Forecasting ?
(A) BTA-ATN fIeA ST/ Time-Series
Analysis
(B) foaxor fdweisor/ Variance Analysis
(C) g<TgrHa faea w107/ Regression
Analysis
(D) *Ta — T fawersor/Input-output
Analysis
(B) « faeror fagersor &1 @A W &
A9 3R &l fawel T & & for
T e B |
. W B & AR & Pre
* PIT—2 & fITeTOT &l I Seed
AT TS B1 Fal A =T
sl
o GHHET I Ix% & 99
HIREDIT Yfcha & |
* I fagersor $9 gRom X
neRT & fo5 T sreferawen
A ofrenfires ofd: Wy &R
SFRIHRA BRi & 1
v dife ¥
Security premium is a :
(A) ST 91T/ Capital receipt
(B) STRITA WIfT/Revenue receipt
(C) IfFITT W/ Personal receipt
(D) =1e], aTRd/Current liability
(A) + TH HFH DT TR I/R IR
1 o g it
PHE Bl Gobdl AR Yol &b B
ql

15.

15.

16.

+ TP BT Ahal & foru fhar S
I & A N B g a0
% IRIEX VAR, S IR TR YT
e gfafa GifEE @ & fore
SRS a1 SR |
e arel U= Wikt & by
SR & foIT ATt~ FwRy &1
BT Tl B

TA-faess famg BT &

Break-Even Point is :

(A) T8 B M FoT AN B SRER
BT ¥/Where total revenue equals
total costs

(B) S8l %l 3 Hal ReR AN &
IREY BIAT &/ Where total revenue
equals total fixed cost

(C) T8l o1 ST FoT IRaENe IRTd
% SRTER BT 8/ Where total revenue
equals total variable cost

(D) T8 B AFH FA AR A 3AfeD
BT &/ Where total revenue exceeds
the total costs

(A) » F-fIeoT fo=g forarierr &1 a8

g & el gt 3 3IR o1 =
IR 8, Ig T A9 3R I
BN 1 g A B |

. -ferede g g e ReR
RERGSI

. IAET T AR BT T

+ MHI & PR T S 1Ay
IR B

« T iR uRadee At |
IR B

FrRAfeRad faa=ul & I8 A g3 81 &l

PR ANY 3T P TUAT HIG F a8 TF

SRTERYT FaRT B |

(i) 9Ra H 9 T 1,000 < 3 Servs |7
aiffa g

(ii) freel g st & IR HR i g8 faeeh
3R S {5 71 99 AR @18 7T % 6,000

(iii) ¥R 7 SR fabeg e Hume % 2,000

(iv) 3TSTeRT 3 AT & YT febeg] AR <18
% %10,000

From the following details calculate the

taxable income of ‘A’ assuming that he is

a ‘Not Ordinarily Resident’

(i) Received ¥ 1,000 in India, which
accrued in England

16.

17.

17.

18.

(i1) ¥ 6,000 was untaxed foreign income
of some earlier years which was
brought to India during previous year

(iii) ¥ 2,000 earned in India but received
in England

(iv) ¥ 10,000 earned and received in
Africa but brought to India

(A) T 19,000 (B) % 12,000

(C) 79,000 (D) % 3,000

(D) » SRl fHaRf— afs 31 e
MR T H | FH—I—HH TH

ot g8 Y iRt wrdlf # & v
il
o YRA H YI<f Sl fb

grovs § afdfa 1,000

IR ¥ it g

Srovs § g 2,000

SATYRYT A=Al ot

IR A A 3,000
Tfafer SIrTd oRgTeT & Savid Ufd ST
R A ghg B9 BT PR T

The cause of increase in cost per unit
under process costing is :

(A) MY &7/ Abnormal wastage
(B) A=Y &9 /Normal wastage
(C) 3™ &</ Abnormal gain
(D) ™ §dad/Normal gain
(B) *+ U gHCAN A WU 4§ ATIRETE,
AT 7T ST B BIR]
Hfed g B |
o Y ORe] GECIS B e
T e 2 |
o AT &F H Bl Bl UM
Tl 9 & B S B
« IYHd B AMYR W FREd wa
AT A & DI e A
IS & B BT 8, S
T FEd & |
o I 9T H G D GRIE BRA
- T 7 &, Yo we | e
PR TN A AT A & |
3reiTey 0T o1 9o @i ¥ ele fa
B 9] 4 IS g B SR 1 9% diee
B

The bad debts that have been written off,
if recovered subsequently then they are
credited to :

(A) ISR @ #/Debtors account
(B) faga @1q #/Sales account

TR | 3




(C) @R @ #/Trading account
(D) SH—%IfY @ H/Profit and loss

account

18. (D) « SH Yg ¥ IT BN &1 B &

fore SR b ST B

« U% IIER UH THIE & ol foell
3 TPHTE B T 0T BT THRT S |

o TP -2 I ETdl Bl g
PHRAT B TAD W H Sl
A -1 BT e S

o YAF AT 9 T B AR =
o foTT ST oiaT TR foham i &
IR QAT Bed & |

19. a1 ST FHHROT Y =30 + 3.6x" DI

AR SYART FAIPROT H GRAIT DT |

Convert the annual trend equation "Y =
30 + 3.6x" into monthly trend equation.

(A) Y=25+03x
(B) Y=2.5+0.025x
(C) Y=30+03x
(D) Y=2.5+3.6x

19. (B) + 9IS SUART AHIBHROT—

“Y =30+ 3.6X”
IR SUHRT THIBRUT—
yo 30,36

12 144

Y =2.5+0.025X

. HIRYPp SUART FHIBROT T8 T S
IS STHART FHERT F 12 Bl
AN g A H 144 (12 x 12) ...
12 x 12 x 12V AR S&R AT
ST B

20. T THIT BT AN BRI B R

Jopfeqs SURIT H ¥ fhl) Ues U ol 99
R P Bl Il & ¢

The process of selecting a course of
action out of alternative courses to solve
a problem is known as :

(A) S/ Planning

(B) o/ Decision Making
(C) T4/ Directing

(D) fa=1u1/ Controlling

20. (B) * USTEDI DI SUGH H HIA—DHIA

TR ol o g=d B

IS ¥ I BT &, ST Y1l
D1 ORI o H el & HRd
gl

4 | AGRAWAL =XAMCART

21.

21.

22.

22.

o SUHH B ford RIS BT o
IR 1 YR BRAT Gawerehl

BT T He@0! B ¢ |

o frdem & el Yared BRI
ST TIRE N HHATRAT Bl R
fpam ST & a1fes AR BRf 3
TRE & 99 |

o g0 & ST e TiRom
B FHHIG S A BT B

IfE e @RI % 20,000, BRET SIRGH
A AR B 25% AT DA SIRST
BRET IURGIT BT 80% B, AN PrIferT
AT BN

Ifprime cost is X 20,000, factory overheads
are 25% of prime cost and office

overheads are 80% of factory overheads,
then the office cost would be :

(A) % 25,000 (B) % 29,000

(C) % 36,000 (D) % 45,000

(B) + TR AN 98 & o sraferd
J wrfread G qgaen @

SIHHRY fordt SRl T
+ 20,000 — 16,000 = 4,000 + 5,000
=9,000
BRI ARTT = 20,000
+9,000
729,000
Ut & GAh A TR 3MLTRT AT &

The measure based on each value of series

is:

(A) IR /Range

(B) A& fager/Standard deviation

(C) 9g® faae/Quartile deviation

(D) I<R-TgdF faR/Inter-Quartile

Range

(B) » wiRiar Rigra SR wiRardr ,
T 7 YTIedT faaRoT & R0l &
I BT A faaer Pel & |

« % fdged S9s w9 | GINT
B TeT U AIUSS &, S Gehiui
B Y BT S fob b fbe et
BT EI

- R g & weATd | S|P Sl
IR & FgAfel & fage & sia
BT IGAF [T e B |

. SR—AYIP R 989 B 50%
DT Bl IR & |

23. GRacRITE |1EH &1 A1 I ¥ AR HA

ST I&dT 8, I I8 HEA &
If total production increases with the
increase in variable factor, it is called :

(A) S@fT G 99\ /Law of constant
return

(B) Sl g ¥/ Law of diminishing
return

(C) S@RY gig =™ /Law of increasing
return

(D) Sa@fT amqfct ¥/ Law of supply of

production

23. (C) » 99 SART & ARIBRT ATEHT DI

ReR TGHX TP A1IEF B 7501 DI
gRafdd fhar S g |

« 99 I aRaxeer ed # ghg
BRA B YU A ST A ghg
B B

- I@f w98 B S st
@ AT D drd LA SFRerad
| T B

- SRY g™ T I8 9T & 7 afs
[EasIREaSSINEEASIER I
B ReR 31 S |

« I Smgf e gferg et aromR
A I T aRGS, DA AR A
@1 faga=1, @man ok gargae
R ST & |

24, 7 BT A BT TE TE B 7

Which of the following statements is not
correct ?

(A) YT TRATHT AR AT ST
A 8 WH § UH-§R D Rb
¥/Managerial accounting and cost

accounting both are complementary
to each other in nature

(B) YSFEI®IT AWHT BT GH-E T
o gE | T S 6 uwy @
farg Suarfl 1 §/Managerial

accounting is concerned with the
accounting information that is useful
to management

(C) USRI RIS Bael IRATIHS
IS BT fqaRor ARAfAT B
¥/Managerial accounting includes

details of quantitative information
only

(D) YIHHIT @D AIFd i IR

¥R BT ¥/Managerial accounting
depends on cost accounting



24.

25.

25.

26.

26.

(C) *» JI=IDHIT IETH 3 Y B
FRI F gig BN S
« ol A AR B B
o AT ATSIRI BT TAF H AR
HRAT T |
. o= Jafous sEfaftrl
TR, fagerur, Yo vd
&Y BT AR TG Hael & |
* ANT ETH, YI-dhIT &I
P U U & TN SeT ST
P YAD ARUN BT YRITHIT AT
@ -y FRTd aAnTal &
STHAT DA |
A il & |ae | et b et A B
In case of three attributes the total number
of classes will be :
(A) 27 B) 9
©) 12 (D) 3
(A) + TF TN & =g § 0 D B
[T 27 Bl B |
« P IART Yo FAE BN & |
* IR PV FADIT B & |
« T U ST W B B
* T TP FAR Iy 9 B

“HH THRT I 3 B T R BT MR
AT
The basis of tax for ‘Income from house
property’ is :
(A) 9Tt fRmT/Rent received
(B) 91 e/ Annual value
(C) ™% f=man/Standard rent
(D) TRUTfAHT He&/Municipal value
(B) * ST 3MY \URT fhRT 4R I &
3T Y fHRTAT T & <Y a8 STaaht
o afd I T
o U FHM WM Bl Sfd fhmn
fs1y W= o g |uR B e
3T Fhel AMF I & |
. gRAfae gTw feREn a1 Sfa
fRmn a1 TRuIfereT i |
| I 31 B |
o I T AP TR TRYTCTH §RT
PIE FX R o1 SR T® IR
HPI w1 N1 QUi AT SAfRTeh
w W gEd B A ® @ A6
I RN P FHA AP o 7
Tl faar I §

27.

27

28.

28.

29.

gfe aafeaTa emr T 62,000, srfaafRd
M T 400, M FR T 1,000 T2 =0T
I % 2,000, T I ST B

If Personal Income is ¥ 62,000
Undistributed profit is ¥ 400 Corporate

Tax is ¥ 1,000 and Transfer payments is
¥ 2,000, then National Income will be :

(A) T 59,400 (B) % 61,400
(C) T 58,600 (D) % 63,400
(B) + TH¥l <91 &7 SRS qaeen H
ST ST & B2l § S arell
RIS AT < B YOITa AEH D
TIgg Sie &1 & IAC I Hadd
Bl
. fqaRd ey — i &%
= 1000 — 400
=3 600
IR TR =62,000—600=3 61,400

ATSIERI & |gad Siiaq a4 aiferdl 1R

Fbr T AT B

Premium paid on the Joint Life Policy of

the partners is :

(A) THfraq AR & gol @ ¥
Bide a1 S 8/Credited to the
respective partner's capital account

(B) FHIed ATeiaRI & Yol @l 4 S
T ST B/ Debited to the respective

partner's capital account

(C) ar9—a1fy @ ¥ Bfde fpa Sirar 3/

Credited to profit and loss account

(D) am—gf @ 7 e famar s &/
Debited to profit and loss account

(D) FIHER] & Fga< Sl ST giferd
R PR T NHFH B A
@ ¥ fde fmm S g

= fawmi 7 fIfe= wR & @rll & 7eg

A & JaTe BT T /4 ST Il €,

T FEd T

Flow of information amongst people of

different departments at different level is
known as :

(A) &fisT FRIwoT/Horizontal Communi-

cation

(B) &I wRwoT/Upward Communi-

cation

(C) eFTraaTRe F=I9oT/Informal Com-

munication

(D) fadiamimoT/ Diagonal Communication

29.

30.

30.

31.

31.

(D) » 9 |UYUT § HIASH AXIAT ©
AMaRe yae & far | =&
G T B

. 9 YR & GavEed 9 A
faar & Ao, <ear 9k &)
IRy 7 gig B B

o 3961 ey fafir= e, fas
ST2qAT AR H HHONRT ST~
PBRAT B |

o AT FREOT H FRLETEd
TR BN TG HHARAT
Pl AR SRR AfIBRT Y
3R BT & |

o IMTAIRG TR0 SF arGaTdn
TAT YTl & AT SHITAIRED
T B B

& GY H TS IR FHA HH el B
EIE
As per SEBI guidelines, on issue of

shares, the application money should not
be less than :

(A) ol & AT & BT 10%/10% of
the nominal value of shares
(B) 31N & Ffd & &1 10%/10% of
the issue price of the shares
(C) ol & AT J BT 25%/25% of
the nominal value of shares
(D) 3N & FRid & &1 25%/25% of
the issue price of the shares
(D) ¥t & fen—fdel & SR 3el &
forte & |avaee 9 etmded IR 3
o 11T [ & 25% & PH T8l B
ey |
B A= Y= T Sivieb el Il & 7
Who is known as the father of Scientific
Management ?
(A) $HEA/Emerson
(B) #d1/Mayo
(C) U%. Tg, clR/F. W. Taylor
(D) &I Sfaq/Keith Davis
(C) » UP. S, COR Pl d=il-eb Y=
BT ST bal ST & |
+ Uh. S, X U SHRB
ABABA SO o |
. THRET TP A% fHaers,
T, JRIAS 9 |
o FATUS ARSI 88 ARPIATSRE
E
« BT AT TF SRS Taex SR
TFHR & |

TR | 5



32. TSP SR fIR0T ot AR Wieg 5% 1Al
UAF IMgRI PI dra A1 HR &1 o3, @

TR /ST B

The arithmetic mean of a frequency
distribution is 5. If each frequency is
multiplied by 5, the arithmetic mean will

be :
(A)5
(©) 10

(B) 25
(D) 50

32. (A) + IO Q9 AR H TR A1ET

Tp ORI AT B |

« g S8 30 R YBR & el
Y e BRA Y <A1 B Al 39

AR HIET B B |

* TS SR fATROT BT FHIR AIeT
5% I IS MGRT BT 5 T IR
e SR 1 ST FHR J1ET 5

BT |

33. TP BT §RT 0T U3 61 ANeH Fal fhar

ST FohdT -

A company cannot redeem its debentures :
(A) I @4l |/Out of accumulated

profits

(B) dfaa &4l |/Out of accumulated

losses

(C) 39 0T Y3 Bl IR A BT BRb/

By purchase of own debentures from

market

(D) %91 5 B el ¥ URaf /By

conversion of debentures into shares

TP HFAT GRT K0T AT 61 e

33. (B) *
St s | & fhar S|

. R BRI A SR S Rl

i & SR ¢ |

o JH ATH P TP HN DI 9T B WU

¥ A o) form 9 B

o FUMAT & IMEA & IR Th
HEET FRT AT o= o)

S 1T & R & A ¥

. TN B Ife J HOTGH B < AT
T gieT ST & — INey 3R SEhey |

34, SEDHTEI YGRT BT A9 o1 AT R T2

foran 1 W 9B E
Secular trend cannot be measured by :

(A) T 9189 Ofi7/Moving Average

Method

(B) 3rei—1exr AfiT/Semi-Average Method
(C) wika wrew AT/ Weighted Average

Method

(D) =1 & 9% If/Free Hand Curve

Method

6 | AGRAWAL =XAMCART

34. (C) + RIS AMMYR TR FHprel T FHwR

35.

3s.

36.

36.

H1eg B HIRT FHIR AT Haad
Tl

o qIRT 7eF I8 & oY Fepre™ &
1T U Ug I SHS R | YOI
BB Sl T YT Bl & S HIR
H TN T AT SBR T ST B |

« T A P GAR T D IHE,
T T A P AR qW D
T s foran i

* QI IR & I D B DT FqAAT
T SR I B I Tl el STl
Tl

AfHTH T, I8l ST (HIFO) |l
T o1 ugfa TRt el & 99 16
Highest In First Out (HIFO) method of
issue of material is useful when the :
(A) I @1 eI 9 <@l 8l/Price of
material is increasing
(B) W &1 U ©C @ Bl/Price of
material is decreasing
(C) | & g H SAR—aerd B <&l 8/
Price of material is fluctuating
(D) w1 BT e ReR 8l/Price of
material is stable
(C) » STaaH 37, B 3MMST U g
=R Aus ¢ =4 st
T RGN AT WIS B ITaqH
AT 1 SYANT B S & 1 A
CId | ITeR Tt S B |

o STfSrHa IMHT, Ygel SIHT |l &
T 1 v STIRT Bl & o9
AN & oI H SAR—EIA Bl &l
B 41 99 39 G Bl SYANT faa
ST B |

FrefeRed # oM A Faaie garga™
P TP qBIP T8l &7
Which of the following is not a technique
of Business Forecasting ?
(A) §5Te/Budgeting
(B) fa<ig faazon &1 gxqdIaHxoT/
Presentation of financial statements
(C) AT AT Bl fA9RoT/Determination
of cost standards
(D) @ 1S/ Profit planning
(B) « T fou yeg® & FR=Ed w9
3 fawerwor & faf= wreql &
ARSI BT ARy i BH &
fore fadyt vt fore o & |
. R e T B @ R
g T4 FASRE B TR

37.

37.

38.

P UPA & f e g 9 qen
Y2 fderor &1 Hal & drh
EECACECIEIICICIRT RIS
o oI AN B ST § g g
TH Hedqul UfhaT & S 39 S
W Bied Bl ¢ b o @ iR
Pel Td PY T &
o AR AT bl oIl 59 A D
AR & &1 S B |
o TP AT ST Yumedl FHY
EECEA IR NGNS (RIECR G|
T S S YROT H YR BRA ¥ |
91 7 | - AT RigTe § SuHaRm
B Frgr B AT T ?
Which of the following is not the

assumption of consumer's equilibrium in
demand theory ?

(A) THIAEAT/ Transitivity

(B) 31t Hgfte/Optimum satisfaction
(C) SUHTeRT Bl TRV ReR &/Consumer's

choices are consistant

(D) 79 ¥ PIS 7&1/None of these
(D) + TS SUHIGI FAT DI Fawd |
S BT & TS 98 ST I 3
[ TGS B IADT ST TN B
TR ERIGHR 3fferbad dgfee g
FRAT B |
o YA D BT NG SHD! T
v g aegel B B W
FeiRa e 2|
o DT @ D A1 SYHEI S d o
Sd ISR 9% TP Uga bl
T HRaT |
RIS YUTTEH! il STat AT T2 SuTford
T BT AT B UM IR & o T
H &l Xl HEATN ®
An accounting system that does not take
into consideration outstanding expenses

and accrued incomes for computation of
profit is called :

(A) TTE @ YuTelt/Double Entry
System

(B) SUTSI SMeRd omell/ Accrual Based
System

(C) ST oI YUttt/ Single Entry System
(D) RS Yuett/Cash System

38. (D) + 39 JI® H AN FHK o — <A1

Pl g Il B |

o RUBHS U § 99 P 3w A DS
AT 1T AT AT — B T
M & ST ST & |



39.

39.

40.

40.

o QBRI OIEl YUl H Y&Ad SATAR
o H /I @ e 81 |

o O g2 W H Bl ST AT et
B AT Bl SUD oTFeT B
A & GO BT ST & T S
JaT & T YO T8 gan B S
SUNSH MMEMRT JuTTel! Hed © |

* PN oI YUTTel ¥ GRAITer i
TS VT YOIl & RS haed s
AT G WAl B ARG I
N & I8 Had QUi IR o
T o gRRIfRT & arer—-arer
gRaffd &

ARG fagersor & arria fr=iferRad
A DA AT TP YO T & P

Which of the following is not an attribute
under statistical analysis ?

(A) S&19T/Deafness

(B) g=xdi/Beauty
(C) Sa1$/Height
(D) 3799+ /Blindness
(C) + AfarTa Sgwal ¥ ghg AR
TGy & WE | ST areTadl
&1 fHieTel T ey daet oTgAT
A B B |
- Sfeet qe @ RS AT
o I fYIET @1 fEfor
. g favasor e fauy
TIRTHS YRI&T0T & faeaa=irm
T JATHAT IR B 1T NFTHAIHD
THb AR FHIAT B T
Rrgidl &1 ST BT B |
=TT arga~ar o1 Ui o T radrer
TRUT B dTel WEER B HH H REan
Pl Y AEER BT B

In the absence of an agreement retiring
partners share in the firm will be purchased
by the remaining partners in the :

(A) ST S1guTe ¥/ Capital ratio
(B) & fq9TSi S1gura #/Profit sharing
ratio

(C) |H 3TgUTd #/Equal ratio
(D) SWRIFd § I PIg al/None of the

above

B) *

fem |eer 59 egaa 3
RAIHET /A AIRER A YT 9RT
BT SRR B A AT
U FEeTTal & |

o AR e AreieR/RagT/

qd AEER & 9T P R 14

41.

41.

42.

faurem srguia ¥ siferfed #a
gl
« 4ol SWIE YU, ScATE Sreral
IRAfIF ST AT Yol H TH gfg
PT I & |
- 31 wETel a1 IR 1 e |
T UH AU el oI & | ]
YU Jd d BN & Al DT
I T g @ | IR ]IRET v
|HY H el Sl ©, i gaei
CIRCGRINDICIRCH RISISIA
IR A IR B U B TR
Bl
Tcrezrly SfTereT | bl STaERU SSfed & :

The concept of economic order quantity
is concerned with :

(A) T B HUSRUT TR Bl qhAID

¥ /Technique of warehousing of
inventory

(B) Il & =0T @ qHe A/
Technique of inventory control

(C) SUTE Yicham H AR & SUHNT &l
T&Hd F/Technique of inventory
consumption in production process

(D) I & &g B AT wRA Bl
T ¥/ Technique of control of
wastage of inventory

(B) + enfdfes ameer AT B fFraey

TSR AT A Bl el & |

« Th IR H 99 H gaAr A
RIS 1 G GRS R | S I
RIS ANTE 3R HSRUT AN &M
B AT B SR 8 o WR W)
ST YHR & YATH Bl & I WX
Pl AT AT A Hac & |

. frgar eneer W YHY &
HATT B I8 AT & STal el
I AN AR HA TR AR
Th — TAY S SRER BRA & SR
ST ANTAT 1 ART ~YATH Bl 8 |

TR 40,000, 9T fI9=1 3 20,000, SR

fagwa T 2,50,000, fawa A=t 2 10,000,

< fa9s1 ¥ 10,000 ST IRl 37afd BrT -

Debtors ¥ 40,000, B/R T 20,000, Credit
sale ¥ 2,50,000, Sales return ¥ 10,000, B/P
% 10,000. The Average collection period
will be :

(A) 2 ATE/2 months
(B) 3918/3 months
(C) 4 A1€/4 months
(D) 5418/5 months

42. (B) * SirId aRgel Srafey fl e &

43.

43.

44.

44.

ST IMEDI GRT < Wil & FIH |
PIAH YT R H A arel FAd
Ekiie i
250000
—10000
240000
240000
SET ATl SAfE] = =2 =4
12
I =3 9B
T TR B AT TR D R fhar o
SEDIEE

The relationship between two variables
can be expressed in :

(A) 81U gRI/Ratio
(B) YfIeIa §1RT/Percentage
(C) =X gRT/Rate
(D) STdad I & &R1/All of the above
(D) * R A TR & S DIE I & I
I 99 BT & O U ) W gRac
& Y AR AR A A FA Sferar
faaRa faen # 9Rads B & |
o ¥l B PEd & fF A9 AR
RENEIERE
T T |
o S b1 AT AR e @ fageryoT
B FDT |
« Q1 HHD SO 9 THD Gl b T
BRIBROT Y & Teqde BEeT

Tl
YR H ST BRI Pl STREMIE &

The responsibility to conduct census in

India lies with :

(A) YR ARPR & & HAAT TR/ Ministry
of Home affairs, Government of
India

(B) IR W¥&R & fod #3ed uv/
Ministry of Finance, Government of
India

(C) IRT 9B & 519 TG fare+
WA UX/Ministry of Labour and
Employment Government of India

(D) R TSR & Fal AFE T4 WA-a
AT U=/ Ministry of Youth Affairs
and Sports Government of India

(A) » 9RA B ATAVAT BT BT
STRAME R PR & 8
HATETT P15 | fopil <er arera iy

TR | 7



o & H ARl & IR | faftaq wa
J I U HRAT UG S Rapre
HAT STHITUTH] fhé("ﬂCrI\I %—l

« 2011 9%, YRA &I SIROET 15
IR B g Tl 1872 7 F® ffew
IRNRI <irs AT & 3T Tl
IR BNIE o | S 915 I8 & 10
Y DTS TS |
INIR, S5 U9 9 & fad 19
DL TolC W ST B

« M AAE Ta, ESE w3
T 99 3R AR ST 73 &R
YoIfer™ R Widfad I HIRd
WREHR 7 24 feq=R®, 2021 &
HRITEI T HHYY, ST =T
BT IZETCH o |

. YI-Ha U9 ga1 HAed faeel #
T 3 TRETE Wl B e
THI—G9Y 9} fHar Srar B |
W—ha Vd gal HAAT AR
RGN B T AAAT ¢ |

« B WA IS B GG
PRI 3 T@e Ay 3, g,
T Ta e 9919 Y8 @ forg
ST WRBRI B o e T
faxIRT TerIaT 9 &Rl & |

45. 1 AT, 2013 B ATAR Teb HHH!

IRT 372 b1 feiee fam i g @

According to Companies Act, 2013 shares
can be issued by a company at :

(A) &9 4 TR /Par
(B) 915 TX/Discount
(C) W9 ¥y areral NffFH 9x/Par or

Premium

(D) WfHIH 9=/Premium

45. (C) « ol & GHYE T My W

frtfa faan < e B

« el BT I TR e Feeran
& Ifx I fifaa <ifdr, f e
7% 9 36! & SR Sifhd qe
P SRR B 91 B &IR1 i
372N BT eI Sifha e & afferp
1 91 I8 SAfered W B

« G TR 9 ROT9H W G DI
% XbH IHD 3ifdha oI 3 31eh
B @ it W e weer g |

8 | AGRAWAL =XAMCART

« I ST B Sfebe Hed & HH YA
R i e S ' el
& T el @1 ol @1 98 W)
e Pedl B

46. 5 T IfIE AT W AN Bl HgRoT

PEAT B

Determination of cost from actual

expenses incurred is termed as :

(A) Y& ARTE oI/ Direct costing

(B) *T9egel AT erdres/ Indirect costing

(C) Vfuerfie @RTd erare/Historical
costing

(D) W% ARTA @i/ Standard costing

46. (C) + Yfeie arTa Riga & W UF

B B AR aaaedl | Hefed
R HETTYUT SAERNS H W T
Tl

- 39 g & forg v el
fafere |ufy & forw Ui
ART &1 RAE DR Bl MaZIHAT
BRI T

* & ARG Sl T farRy e g
I STRIT & YT BT STl & Yeget
AN & o9 | ST STl & |

o UL AN J AT & oIl fohiy
NI 9] & IR STareas el Bl
Tl

e H[Hdh AN ﬂiﬂicbﬁ 1920_&’ <2[h
N URUR® AFGl & SR IR
IRARS AN oEied faftr &
fapeT & = 7 991 & TS IRIRE
AN g fafer &1

47. T 99 F YR BB

The term previous year means :

(A) faxi 99 ¥/Financial year

(B) er@I®+ a¥ W/ Accounting year

(C) FelveR 99 W/ Calender year

(D) FR—FgRo a9 & P @ & faxig

g% & /Financial year just before
assessment year

47. (D) » ¥X FuRo a9 | S @ ad

foxTr a9 &1 719 99 BET T B |
o PR YRy 2020 - 21 ¥ \FEfe
T I BT S |
o fO=fT 99 1 ¥t <1 31 A1E A b
IafYy & v faxig 99 Ped ©
o TEH Ol Al S FHY Bl U
fUd gEen &, f9a IRM
NGB B Betex a9 AT fa=i
fed 6 oI 81

48.

48.

49.

49.

o fRY 789 B A1 W I B 484
AT I TS Ped & | betvex Iy 1
SHERY ¥ 31 fqw R T Bl 3rafey
T Hal STl & |

fr=fefad # & SH—1 B w8 78 77
Which of the following statements is not

true ?

(A) ITITaRYT H ST &1 gfrerd 218/
The percentage of oxygen in environ-
ment is 21

(B) TTERU1 YgNUT b SASRY Heeaqol BRoT
B F AT BT YN &/ The most
dominating cause of enviromental
polution is use of chemicals in
agriculture

(C) TATIROT ARET0T AR, 1986 F TR
BT 1/ The Environment Protection
Act was passed in 1986

(D) 3R &7 A1 P I3 ¥R M
USIe §IRT 1Y UGHVT BT HH BT &/

Green Fuel Scheme aims at reducing
air polution by lead-less-petrol

(B) + TATERUI UGN BT YA & i
IR ifd® TP & T B WY
H gRTf foam S &
* D UTpIcrep o0 J Tt AT il
B HHd T
« TUTARUT GRETUT Bl areqd ® fd
B 9109 IRI SR @ qITaxoT
P AR X qAT S ST B
IR TR G |
- BRT 89 AT HEFRT A AN
— e ed® BT START BRI qAT
g B YU H ARSI
S PR IR 3{UAT S Bivgd
A | $F AT BT I S
e B gY B NG T
TE B9 A U GHded BT Fee AFA
el SRRl P AT HEARN © -
Number of subordinates that report
directly to a single supervisor is called :

(A) FEE™T &1 fIRAR/Span of business
(B) T=101 @1 fa=a=/Span of control
(C) e &1 faRAR/Span of organisation
(D) 7ffafer &1 foRAR/Span of activity
(B) + =107 & fawdR 1 3ref Srefiveeeiy
P g8 AT o775 e gHTa
& a9 |
. I B Y ¥ Uh AT e
O H o7 & ga a3 sfer
Jaret w1 Sared, fawa iR
fafa 2 81




50.

50.

51.

« |G 98 AMING gavel §
%! 718 TP Bl & S S
ST b T FRA Y T B
T B E1
- TRifafey 98 s e w1ea fafafirat
IR BT & AR AR @
R famam e & |
FaARIS qargaH & day ¥ frefaRad
Bl H A DI A TP T 6 © 7
In case of business forecasting which of
the following statements is not correct ?
(A) ey fawarR qatgae <re fer
TafgA & FH T8 B &/ Short range
forecasts are less accurate than long
range forecasts
(B) Aol qafga & ef=ia 1d
AT YT P ol faeersor fa
NIGI %/ Under time series forecast

data obtained from past experience
is analyzed

(C) Frckeriep qalgAm o1 faferdi 3 ¥ v 3/
Index numbers is one of the methods
for forecasting

(D) EETRIG qarga & =gAad a1
QA @1 wdige Yar 9 b ¥/
Least squares method of business

forecasting is also known as line of
best fit

(A) « ARG @A e HraAa—
3ol & [ T FHM BT T BT
HREHIT frersor &1

« Y 99 P ¢ AT T & T
o fawg § @8 qEgaE @
SHIRIRCIREN R

* U BIA—30N VR AR DI A+
P e & R Frampargar
| StfeiRad fbam i & 1

« ke QaigAm < Rty sreran
] XM P QAGAM TR S
HH 8 |

* 37eq faRR QaTgAT 64 TR ST
gl

yag & RIgril & Fe@yqul B &I aois

TE’l"he principles of management are

significant because of :

(A) 1Ll BT AgHATH SUYIT/
Optimum utilisation of resources

(B) srdgeraar # gfg/Increase in
efficiency

(C) Uget/Initiative

(D) IRaRIT & & TP BT TR/
Adaptation to changing technology

51.

(B) * Y8 & RIgGTI Teb SERY I

B

* YIS DI PRIGRIC H glg I
rfrrer 1 5T 9 |

* YD GRT AT Bl STFeReidd
ST faar S A |

* YSRHD] BT B AT D SIFBR
Bl =fey srerfq uRafkia d@iis
BT ST T ST AR |

* Y B GIRT &Y ISl DI gt bl
ST =R |

52. IS SHAVI-TF B G & o Hafers

52.

53.

SR AT D JUIeA & -
For printing of wedding invitation card
the most appropriate costing system is :
(A) Tfafdr @7 fafdr/Process costing
(B) &1 A@FTa faf¥/Contract costing
(C) 3¢ T fafdr/Unit costing
(D) Sysr™ @rTa fafdr/Job costing
(D) » SYSH ARG fafyy wae, geT, arg
anfe ftor wraf | weafd Brar 1
* 3 SR BRI BREM B <X
8 oo S
- gffyy amra fafyr 3 arafds ok
AT ARGl H SR Bl e
PR [aRUl & PRI Bl I SRR
ST E |
* P AN A 3 YH OB Bl T
Y2rd; ANTT B FHTS A IR HD
KIUGRECACIRvIIR
- SHE A fafy e R
fafor wfafaf # v Sa &
i e AT T 1 AT ST
gl
o wraelt g1 g Mm@ g
oo ST Fael © -

Securities premium can be used by a
company for :

(A) 307 FEHT BT YUl S99 37T
R B & ford/ Issuing fully paid

bonus shares to its members

(B) qaiferer areli & wies & fort/
Redemption of preference shares

(C) STl IR STHIRT YA A & forg/
Payment of dividend on shares

(D) S ¥ PIS &1/None of these

53. (A) » "fayfa NffEE &1 ST R a)E

A Y fbd T I TR B
¥ H A b gl Dl SR
IERACINRT
ferg |

* QAR 37l BT 2NE TP Hvail
ERT S0 S SRIERAT B
ECaiES BICHIBCICU IR BCIRE]
PR A B 8 |

« IO & |99 ¥ I8 DU & GATIA
TR S ST BT Sl AT YT A
P SAYHR FHA 3R A g B
gl

54. )0 T SeUTE 7@l Hal Bl el AN
T U] PR P AN oRaiep fafdy @

The cost accounting method to compute

basic cost of a product or service is :

(A) 93 AT fafer/Process costing
(B) ST @RI fafér/Contract costing
(C) 9%y @rTd fafd1/Uniform costing
(D) S&T$ @7 fafdr/Unit costing

54, (D) * U IE&G P! ol AN = PR

D fHT AN SBIE Ud AN B
FEdl ¢ |

« IT AFY OIRITH JUTel Bl &l
TP JHE A 5 |

* 3P AN TAfe § UAD SB BT U
oI TN Dl SHTS ATTIR SHD!
AN BT STl & |

« AN R e U Uiy §
S YeerR] RT Y919 7 IoIe dl
e | AN FRAfAd B 3G
YART H§ AR ST & |

- IR AR fafy S @rEr @
A B Ay & T8t vaper ST
BT SATG Bl & |

55. HRITES TS B TIE A9 & -

The main advantage of functional
organisation is :

(A) faRISEeT/Specialisation
(B) 999/ Co-ordination
(C) F=SuT/Communication
(D) SReABRYT/Simplification

55. (A) + BIATHASB FITST TH GHR B

TSI &l B

* S BaRF A1 AP B YR W)
TaRETe & RigTa &1 SUART HRaT
T IS SRIGdl By [9RNs &
fa9sT ArTeR U HRel & |

TR | 9



ST faf=1 fopansti & Ao
q deMd ¥fid BRAT T
PHET B |

o YU T B bl § OF a2
& 9§ T RIfud B |

* ERENHROT Ay & b &HIRT 3
B BT RPN 59 YBR Bl b HH
T HH Y SR TR Bl T B
& SIfr——atfed Rl g1 fha
ST S |

56. To a9 & SRM A F ST qegel wd

56.

57.

57.

Hasll & FA I Bl Hel Il ©

The total value of goods and services
produced within the country during a year
is called :

(A) ST=I U /G.D.P.

(B) ST 4T /GNP,

(C) T4 /N.N.P.

(D) TS 4 /N.D.P.

(A) + Tl T 1T § < H ST B
Tt |9 AHMT AR Harsll B g
g T S S AT PEl ST § |

¢ PR WA, S& & @ gHD
Aqerd & fop srefagasen wumar
ISR YT &Y & B |
o 5 21 & Pl & wrficg &
SAET & A AT gIRT fh
e srafer 3 fohy TR | Scaral
Tq JI3l P TH AHe Bl &
R g @ wedt B
. JaTfed A eifom awgell o
Ja13i § | e B P S TR
N.N.P. yrsi B 1
« N.D.P. § IS8 S TodeT
B |
TS o HF ) H TaT & SAferda et
BRSELINE

The maximum number of members in a
private limited company can be :

(A) 20

(B) 50

(C) 200

(D) 3rAIfAd/Unlimited

(C) » 4o ¥ o= &9 | & QT AR
AYBT TN TR BT b
" ¥, Ner sl g 2.
Bl

10 | AGRAWAL =XAMCART

* T Sl R H aferad 200
A B A © Al BB Il
& AL |
qH A B

58. gfa ol ¥ 50,000, aTRc@ % 30,000

58.

59.

3R =il |=fREm ¥ 70,000 &1, A A
raferat 2R

If capital is ¥ 50,000 liability is ¥ 30,000
and fixed assets are ¥ 70,000, then the
value of current assets will be :

(A) % 90,000
(B) T 50,000
(C) % 10,000
(D) % 1,50,000
(C) + T THIRT I & B Pl & ol
FyiRa =1 21 srerfq S sedr—sgan
& B
. TR — TR AR
=70,000 — 30,000
=40,000
<Te], FRARAT P Hed
= 50,000 — 40,000
=10,000
FrfoRad 1 & PF—T YS=IbRT T
Bl T SYHRYT a1 & ?
Which of the following is not a tool of
management accounting ?
(A) TR @@/ Financial accounting
(B) I @rara/Inflation accounting
(C) YA ARTA ei&Td+/Standard costing

(D) foxira faa=olt o1 fawersor/ Analysis of

financial statements

59. (B) » THIfT G oRITHT Bl TH

Tl & e eraia el enfdies
IS B IAH! Al AN TR
ReprE famam < 1

o EHIT ot — fafey H ey T 1
IRy RATE 37 1 ey uR wrafera
I | B

« fO=TrT orETes o1 Ues faferse e
T o Iy R ey
[T | S AFd-—aT @
Repif&T wnfae 3|

 JHY ARG ¥ I S ANl |
BT & SN U <1 T3 gRRerfort §
TS Y&l SATGH 1 A IR A
w9 H B S Fhal B |

o I & SRS §RT G

fofg &R fofg &t ergafa a1 &
1T anfdfes SHGRI @1 T=ar,
9w & fpar @ foaxig fqaro
1 fATerToT Ped & |
60. Tl TMBd B ‘STgHIET BT fawa’ &
YR TR I T /ISl BT @l fhar S
T

60.

61.

61.

Goods sold to a customer on ‘sale on
approval’ basis is recorded as :

(A) TH< fa%a & B H/Cash sales
(B) YR fa%a & w9 #/Credit sales
(C) =T 3B & w9 #/Closing stock
(D) ITER & W9 H/Debtor
(C) + 50 UTeSH 1 STgHIET &1 faga
@ IMYR TR I T AT BT oIl
i XEfR & U # foham ST B |
o 3ffTH Rl Tl swagl @ 3R
TSl R A e o v Raifé
Ay & 37T H & H T
- e ve Jfed T@s A
BRATCIROT TG A HRawT & |
o T UBR [I5g Adbe & A
ERT Ud SR UR UH Al o
TR <gfer bl bl agall aperdn
AR @ BTN ek & |
fa<ia agei® P Pl oI & -
Second quartile is called :
(A) #1889 /Mean
(B) HIfed®1/Median
(C) 9ge1®/Mode
D) GC@EH 3PS T8/ None of the above
(B) + AT S BIfS B A BT & S
ey il Pl ] SRR T3
H fawIford oxar g
* I8 I AR<Ifde el 3 T el
Bl
o f&I TN SfipSl & IRT H SidS
@ T AN o IR YT e
PI & W FEd & |
o 3P B B e A o o1 B
|aifee R SGRT Bl & T8l Jed
I A8 P gD Bl 8 |

62. X 1Y UM 2.5 TN PRI qon

90,000 B, =T A T e BT :
If current ratio is 2.5 and working capital
is ¥ 90,000, then the value of current
assets would be :



62.

63.

63.

64.

(A) % 60,000
(B) ¥ 1,35,000
(C) T 1,50,000
(D) ¥ 2,25,000
(C) =1e], T 9RT 9 &9 BT Ped & ol
iR 7 & srefq o Hea-ged
&
Rk lipif
2.5 x 97e], T = 1oy, FFIRrar
PRI gl = 90,000
HMT, 90,000 = 2.5x —x
90,000 = 1.5x
90000
=X

L5
x = 60,000 =Te], SR
=Te], FRIRAT = 60,000 x 2.5
=1,50,000

FefaRed arel @1 &1 H 3@ g8 TP
& fadheq @ Ay
a. SBHE A R B ITAR

T RO H 9 X T B B, g

Y IR S Bl B |

b. SIP T AR Afp Bl B |

Consider the following statements and
identify the right ones :

a. According to the theory of
demographic transition in the first
stage, birth rate is low but death rate
is high.

b. The difference between them is high.

(A) &It a/a only

(B) &aa b/b only

(C) <M a 3R b/Both a and b

(D) 7 41 a 3R 7 b/Neither a nor b

(D) » SIfdd WA g Td
SaE Rigra @ o i
& H R Y A H S
P THEY IR IR P 9L TR
& HRUT ST H TSP gl

& IRAT B A B
. & RIgr Jo1 U ¥ Y, T,
AT 1 1929 . 7 YR fawam e |
T TR GIRT 10% BT SHUIR <7 & SFef
Surcharge of 10% is payable by an

individual, where his/her total income
exceeds to :

64.

65.

65.

66.

(A) T 7,50,000 9/% 7,50,000

(B) ¥ 10,00,000 /3 10,00,000

(C) % 50,00,000 %/ 50,00,000

(D) % 1,00,00,000 ¥/3 1,00,00,000

(C) » U& =k R 10% BT AR
W T AE W SHD HA A
% 50,00,000 3 3ferep BT |

« 0 SAIE® a1 BH & gRT <1

Sared # vh FfdEd |4 @l
TIHY Sl FARIRT T B AR B
S FA I P &

FrfaRed § D8 F1 B T faRwa

e 87

Which of the following is not a

characteristic of a company ?

(A) IR—F¥Hferd |%elT/Non-corporate
body
(B) S afaied/ Artificial personality
(C) IRe SRIMYBR/Perpetual succession
(D) 9o, 9efa ffR<i<a/Separate legal
existence
(A) » IR—TAMT AN 98 & N fa
frll wrier a1 gfafAfeea &
|1 YTpfcrd I B G
@ gRI SR R faftad Hwfed
IR—ARBRY FISH] BT FafIT BRA
o forg =mIe w0 | Wer
T
- foum gR1 W wfea HA
faur g1 fAffa srgea wa eppd
AR B
* TS SRR T o FR=IRa
& fom & a1 A, faarferamd,
AT & BT o e &
MR ¥ Vb DR & o 3
IS B 3R TR
o JE BT B BT ARTT
gord; WY & i famar T ¥ |

Th ST A B A fhansti, weg
fyeiRoT Ta <1eg 9Ifed o7 gHIfad e arent
WfShAT T HaT Il &

The process of influencing the activities of
an organised group in efforts towards goal
setting and goal achievement is called :

(A) S /Planning
(B) F==v1/Controlling
(C) 9g~¢-1/Management
(D) iq<a/Leadership

66.

(D) *» YS=H RT AT dbF Uit & fory
A AT BT RN faT S B |
o YD ERT ST T8 & 99
foramall, tewr frgiRor va <1eg miftq
Pl GHANAT B arell Gfehar &
AT HEl ST B |
- S g erRar-fafyr @
T HEaqUl BRI B |
. YSHS B GRT ST B Wi B
forT arest yewer fobam Siem & 90
SR AT BT I B S bl B |
o R yerger ot — fafy &
TG H & AR SRl i)
FR=I0T <1 ST B

67. I BT AT BB ¢

67.

The last function of management is :

(A) </ Directing

(B) =301/ Controlling

(C) T3/ Organising

(D) S/ Planning

(B) * USRIHR oA gRT Ya=er @
=0T & 9§ e < §

o JREHR ol — fafy & e
AT, SM 9 e Wl
o= & o eme AftRl &
SYYHTT I B |

o YD SRIT—TafY BT BRI HITST
A Hag FHR A T

. JgrgeE rar-fafy # =
Iforqal @ 99 SIS e
STRIET T TSaRT BT |
ST 1 0T fomam i % |

68. T—faees forg | A ©

Break-Even Point means :

(A) fawg x P/V srgu — gRad-eie
ST /Sales x P/V ratio — Variable
Cost

(B) fapg x P/V S/guId + TR IR/
Sales x P/V ratio + Fixed Cost

(C) faga x P/V U — TRl &R/
Sales x P/V ratio — Fixed Cost
(D) fdwg x P/V srgura + gRad=eier

&I /Sales x P/V ratio + Variable
Cost

68. (C) » famg r2@l ST &I 98 A

N )T a9 Bar ® 9 8 B,
TA-fIeee fag e 1

TR | 11



69.

69.

70.

70.

12

- 39 g W ¢ 90 g o
P SRR BN ¢ 1 39 g & A
g areran SeaT FRA AT B
B & 3R A 75 ¥ fagewr arerar
Sare 3ifere fobar ST & @ e
BT |

IR T FIY &
Motivation is related to :
(A) FAST | /Planning
(B) =01 |/ Controlling

(C) =g ¥/Leadership
(D) EIfST B W/ Organising
(C) + IR BT HIY AJ@ FRA T B |
o RO & AR YI=e1dH gRT
HHAIRAT BT B B gf PR
BT |
o RIS ¥ AR YIrEd gRI
HAYeM AT I8 Il & fry
D I DI Y1 Bl T b |
o FO=IUT ¥ SR YEEd §RT
HHATRAT TR =101 a3 fores
IS IeTT DI Il BN S G |
« GRS B @I MR B T fh
faf= safeaal & 9 <Rl @
AT, o Bl Siedl— S—sTeal
SHT W 959 9 |
AT Bl T8 el SR e & qawl Dl
T BRI WASKGD BT BT IFAN
& B ST ¥, BEARN &

A leadership style in which group
members are allowed to carry out their
work freely is called :

(A) faferardy et/ Free-rein style
(B) e et/ Democratic style
(C) R Ael/ Autocratic style
(D) Y% drelt/Paternalistic style
(A) + R AN B TR AT
SfSepIoT AT AT ¥ |
« 399 el & T U Tl fadsranor
PRAT & R 37U STl P S
SR Aiae ¥ |
« 39 Ul B qEq, TP UGS 39
srefTReit 1 ot T A4 ¥
« Fyaterard # RaiRa wedi & wft
il il R SNIG RG]
« J@ D 3 a9 7 w0 ol
R g1 ford o 1

| AGRAWAL =XAMCART

71.

71.

72.

72.

SH W H AT PR B =< AfeATrd
[E2IACIGIRE

In Contract Account, the work in progress
consists of :

(A) YA B &7 ANTA/Cost of work
certified

(B) 39T B T @Il /Cost of work

uncertified
(C) IO Ta STy Rl o T/
Cost of work certified and uncertified
(D) YT &1 TR U< b UF YHTIOT
BRI P ART/Cash received on work
certified and cost of work certified
(C) » YOI Hr bt RIRT | SHT Wil
P BT H AT S B | o
Y & ST TP YT YT A Bl
Gl JIRT BT Tba YI<t 0T Fed
T 3 SHIEIT & KT @I
P1 Sfde F 371 S B
« YA BRI 6T AN DT AT SbT
XIS STAT &7 § ST e & |
IR PIE e T T B
TR AR I S0 R I 4 Sl
QAT & 9§ fordy o ¥ |

WRT H YTl A7 Y FqHeT S drell 8
PR ARG BAN ¢

Income received in India or deemed to be
received in India shall be taxable for :

(A) | FHRaTars & o/ All assesses
(B) famil & fori/Residents

(C) SrTeRT FaRT & foRI/Not ordinarily
residents

(D) 31YarRT & ford/Non-residents

(A) + 98 AfFT S IR goM & fory

ARG B

o MRT H U M N FHRaTrei
% for B IFg B B |
H A PH—A—BH Ueb T I bRl
B 3rerar rfaRed et § <M |

o TR IR & fordy HA—H—bH
TH I AR IR ol § Big
f o I T BAT |

o SR o fTT SERY 2l 3 |
PBIg ol 3R IR It § BIg
faaR =& |

73.

73.

74.

74.

(er): -
« SMURYEET — 182 37 a1 *1f¥ras
HRA H Y@l T 99 & 4 quf 7
365 & a1 SE 31 IR H <aT |
- JRRE e — 10Tsi AT HH ¥
PH 2 Y AR A <@ | 7 H A A
frerex 730 fas 9RT #H @ B |
e N T9 gk o &
Fr =PI (a9 H gaq far S
AR S

The relationship between correlation co-
efficient and co-efficient of determination

can be expressed as follows :

(A) FERoT UTie Heaw=g oI Bl a1
BT %/ Co-efficient of determination
is the square of correlation co-efficient

(B) frerfxur e wewvE=y YUNE
BT qI qT BT &/Co-efficient of

determination is the square root of

correlation co-effiecient
(C) ST SRTR B ©/Both are equal
(D) =M1 sraFaIferd &/Both are unrelated
(A) + FERT B OIS TP AEdEH
N & I Bl ORI 0T & |
. FEESY YUNH UH Alsd Dl
|G B O B |
« FgRoT &1 NS SeT, AT MSeeIe
IR & & gformE I & e
QT Ffed B & | I S |
eI GRITE YoTell & il =T
SISCCRRCACCRIBRECHICI R ICH R

Under Management Reporting System
Control Reports and Information Reports
are integral part of :

(A) o< gfdae=T ®1/Financial Reports

(B) gRETer™ wftdssl &1/Operating
Reports

(C) foxirg ufiaeA va gRaEme gfodes
M1 ®1/Both Financial Reports and
Operating Reports

(D) 3reenRaT &1 3 S aret gfide=i &1/
Reports to be given to shareholders

(B) « wfrde vep v forfa faawor &

o qeaTeed uR e fhd
e AT, |, faurT anfa 1 wwga
[ERIACICIRT

- 3O g B gg IR W
TSR] <A1 BT



S foRTRT fyaxon 3 yeRiq oM<
T4 EeATsn dg-Efl ugdr,
A1, YEATBRUT UG GeheIhRUT
SMITIHATSA BT IRT Fal T

o TS R T3 STRTERT &1 JaeT B
T 9 D! U Yfada e S
T o foRed w9 9 & © &R
RraH S9 RIYR & T4, 9H 9
T e AR SEBRI oy
S B |

* YSIbIT GRS YOTell & 3Tid
=0T yfcrae va g ufaed
I 37T & uRaErer yidei & |

75. 9 IdT fhil T B fAumHeA g’

TIRT fa9s SrfSf| & sl aHmMferd
D P B

A company incorporated by a special Act
of Parliament or any State Legislature is
called :

(A) RSN HT/Government company
(B) ATdGIA® B+T/Public company
(C) e B/ Statutory company
(D) TSIgd HaT/Registered company

75. (C) * IS BT DT AR V=AY HFosT

I T R T oo s
S & =i gan 2l |

« g HRET BT AR JED
BT ¥ R o faum gt Affa
B B

o WER B F IR Th VY
P ¢ ) gaw o @
B T T 51% ¥R B TRBR
T 1Y ARBRT & I | B |

o AIdSING HFHT Th GBI Bl
e B

o WRA H U AR BRI
609 & TEq e U IRRER
e erafa faf= sog @R
| Y & 3 & B &I B
AT gl R W XS & |/
i R @1 e axe & |

76. AP SIS & TP B [T I

P 8,000 SHISTT BT TR | TAD SHE
P AT T 10 8 | NS 9 B AN Gy
YT T 30 T | AN G B AT aifes
T B BT 7.5% & | FAaed ameer
T BR

76.

71.

77.

A company buys 8,000 units of an item
for its annual requirement. Each unit costs
% 10, the ordering cost per order is ¥ 30 and
the carrying cost is 7.5% of the average
inventory per year. The economic order
quantity will be :

(A) 566 SPHIS/566 units
(B) 800 $HT1$/800 units
(C) 2530 EH1/2530 units
(D) 900 $H1$/900 units

(B) ey arerer A Sfad s7eer A
B Sl Tep U Bl SI¢] I Bl BH
B D foIw wreT anfev |
[GEERIECIENKIE I RSER

2RC,
E.0.Q.=
0.Q C,
R =8000 units, P=% 10, Cp:? 30,
10x7.5
Ch= o0 ~075
2><R><Cp
E.0.Q.= C,
B 2x8000x30
N 075
= 7640000
= 800 gaHrAT
frafaRad ¥ F -1 JIIHT HRI
e SR IR & Fefta § ?

Which of the following function of

management is concerned with means

and ends ?

(A) |/ Organising

(B) f==101/Controlling

(C) T /Planning

(D) f<e/Directing

(C) » SUHH & foRI RIS BT e
AT &1 FaR H=AT g
I Ve Hewqul B & |

o fRS & HERar 9 e SR
A 3rew 3 fhaT ST el B |

« IO B BRI &g A
AR DR — NGB J T BRI
TS & 3T et T ST
Tl

. =01 ® T NG
RUTHI &I HHEg Sifd e Bl
T | TSI T BT U Se Y
=01 9 R Yee R 8 |

78.

78.

79.

79.

« TR &1 BRI FHERAT B Iga
Y& BT, T R SR
APIRT BT B |

I8 AN S 9 Ts ReR <& © fabeg
SATEH B 70 § IRad & 1oy gRafdd
B ST &, BEell &

A cost that remains constant per unit but
changes with the volume of output is
called :

(A) ReR AR /Fixed cost
(B) erd—qRaceiiel &/ Semi-variable
cost
(C) uRad=eiieT @NTd/ Variable cost
(D) Hfde™e @I/ Absorption cost
(C) + ST = gRacieie |red Ix fbar
ST E I & gRacRIe And
Pedl |
« P AT P AN, SRl
AN, #fb B AR AT
IR AN & ISR ¢ |
o SI- 9, 9ae, W et | 57
ReR |1e[T W B arel @9 B &
ReR ANTT Fed &1
« FF—IRGIT AT TH [T T
o v fRea — o wcs
IR TP IR — AT TeH
T 2N B |
* SARA H TP 3B1g BN ghg B
{ el AT H ST g Bl & SN
Hfaeras ATd Fad
T B 9IS AT/ B
After recession, comes :
(A) |Hfg /Prosperity
(B) @7@fd/Depression
(C) 7o /Recovery
(D) fReRa1/Stagnation

(B) » SraHfa & e e Refa & A
R
9 qEgel SR Harell & Swed 7
FR=IR fiRmae &1 & & &R waa
TR SAE HH—H—PH I FEM
TR W ¥ B AT 59 R B
7T P & |
- Wi B e & o9 AR A
Heperd et el B SY AYlg
P & |

R | 13



o OTEl erefeaRe TRah! H IRTae &
3g9a FRAl & s 918 Rt
T — 37T TP & B & §IH
TR T U >R 31T el
& 3R %1 TRIe Reifiy 3 a1 <&
Bl

« Rerar &1 Aded ¥ fo fooely e
7 T I refaraven Snfdd yazH
3 Y SR ¥ S SAR — Iga
PI T8 T B

80. ST :

% 3,00,000
% 2,00,000
% 1,00,000

HHAT 3791 ol

7% aifererR srer goil
SECRCECIECR)

8% RUTTH % 4,00,000
EagRiialin] % 10,00,000
ST SFIROT SIgaTd BT

Given :

Equity share capital ¥ 3,00,000
7% Preference

¥2,00,000
¥1,00,000
¥4,00,000
¥.10,00,000
Capital Gearing Ratio will be
(A)0.6:1 (B) 0.8:1

(©) 0.67:1 D) 1:1

share capital
Reserve and surplus
8% Debentures
Total Assets

80. (A) Sl IFTHROT & LT S AIEH A

U U9 @i Gon § w8 e

X ST Wbl & U4 fafd= ey &

Il & B! are-adl IR faar fan

ST AT B |

TSl SFIPROT ST

STLRDT BT BIUT

:_ClgT'T— -

JHT 37 Yol + 7% QaAieBR 7L

TSl + 9 Ug Sy

= 300000 + 200000 + 100000

= 600000

B TR = 10,00,000

) 6.00,000
Sl SRR ST = 10700 000

=06:1

81. e TUIRET &1 Feday o o bl

S el &

The Karl Pearson's coefficient of
correlation can be computed between :

14 | AGRAWAL =XAMCART

81.

82.

82.

(A) &1 =RI & A&/ Two Variables
(B) I Uil & 7T/ Two Attributes
(C) ] Hw=IT8i & 78I/ Two Numbers
(D) J1ARIQTS] & He49/ Two Assumptions
(A) + FTct TIIRET 1 ey — oTdH
BT 7 BT e 7 Sqern B
o O 98 R W B A W D G
XE Gl B GRS A AT
o A fen ¥ g § @ R
faRIa faen # <19 9 e A
X ERT U b < 6 |
o HEHEY U Teb VAT IgUIfieh
W= AN T QA W D 9
TEHIY B YPHT IR SHDB! A
T B T N IR & |
IOR T% S G99 ¥ FEfafed 9 9
PE—HT U Fel el & ?
With regard to business cycles, which of
the following is not true ?

(A) foaR, w81, sraafd 3R gsc
R g% & IR IX0T &/Expansion,

recession, depression and recovery
are the four phases of business cycles

(B) MR = YSilaral Ugfl Pl T S
¥/Business cycle is a part of the
capitalist system

(C) &8 & IFER, "SR I% U [9Yg
Afge e’ / According to Keynes,

“The trade cycle is a purely monetary
phenomenon”

(D) AR =% & FaaR g S
YR & 9 | GHIfud 8/ The

innovations theory of business cycle
is associated with the name of Joseph
Schumpeter

(C) « Ty erefeyazen # ue fAfdad
ARG UX SnfYe fharet
B dTeY ISl P AR T Dt
Bl
* IR 9% TR Tgave H Uh
Y 37TE1 KB AIE A SAEH, AR
IR wefea wfafafer o1 a=fia
G T U ek B |

e MUY dh ® I?N'&'IN, SRIESE
ST 3R G AR R0 & |

* R T Yolardl fegaeey ol
ECRENERIRS

* R TP BT TR RIGIT ST%
YEIRR & T A H A B g |

83. T IEER & T3 WX IS AR I8 o

P ¢ b iRl va aifedl & e 5
& TR 1 o T A A e
fopmg Tl # & A1 BH TR BRA 8
On the admission of a new partner if
the partners decide to record changes
occurred in the value of assets and
liabilities in books but not in accounts
then the firm prepares :

(A) @14 — B faf=T ST/ Profit and

loss appropriation account
(B) &9 — &I FHEIST @t/ Profit and
loss adjustment account

(C) g T/ Revaluation account
(D) FHRP ﬂq‘i@.aﬂ QTdl/Memoran-

dum revaluation account

83. (D) * ITEARD TG G Bl IR

P PN I ST IE & o A
19 AT fobam T & A1 JHA
BT 98 99 HWIGR & 8, Sl BH
F AN o |

TN B BT IE HA B GG, FURT
PI SIBY T TARTRAT DI SRATBR
PR, B DI FIT 14 /E Bl B |

T SR B W1 39 aRE B AW
T AR M TR IR vt & iR
o=t faey erafyr & SR fi
A GRT fbU T geg o1 A1
g T AT B

o BH H R T AERR @ Y
T FHY BH DGR U9 SHD
MRl & i H FHRIST A
@ foTT Tep @I WreT S & foy
- TR @Il Fad & |

« JTHSITHT W1 TP AT
3 gIHeadd o1 SRl B
AR TR B9 9Ter @ feran
BN P11 B B e | AR
ST & S YA ST Hed
Bl

84. T AR TR BRI B TOMT B ST

%GH—CF\):

The depreciation on Fixed Assets is
computed on their :

(A) K% 7T 9X/Book value

(B) 9NIR &g 9X/Market value

(C) TN AT ¥ UR/Realizable value
(D) ¥y e UX/Scrap value



84. (A) « f&0 gRHURT B g&I® &1 I

8s.

85.

86.

o Fe W S o WM B A
P IRER B |
« 3R Ul SHS | B
o Raes Fuft &1 g HA B
U B B |
* IR 4 98 I & Sl IR ¥
T IREYRT BT YT 81l & |
* TN ¥ e GR¥UT B oo Beblebal
H ora SR Yo Tam & forg
AN ¥ M & b favary o=
BT P BRYT &1 &, Al FURT B
ST g = & N B Ar
D IeN AT R F HY A
SIS AT ST el & |
. RN &I — TR 99 PRI B
A 78 & A 59 Jod W) a8
T S I8 AR I & HarS
P & | TR B AN 4
IS AR Y Pl Fe & |
ATHRAB AT H Afedfera T8 ©
The term casual income does not include :
(A) ST 3 SR AT _11R1/ Winning from
Lottery
(B) J¥ # Skl g1 <IRT/Winning from
Gambling
(C) 3l & faspg W= Yol &4/ Capital
gain on sale of shares
(D) 9$®% W UgI g9 Ha1/Receipt of
money lying on road
(C) » STHRAG 3T T8 T SNl AHRAD
EEISEaR!
o TR IR—aR 9Tt B b1 AHTET
T B
e AT | S gd ki &t
ABRHAD AT Bel SR Fifd
TE MBRAD Yy B ¥
o 9 A S A IR B oo
AHRAG S el & FAifh T8
MBRAAD FgfT & ¥ |
o 9% UX TSI &9 faardr «f
SHRFD YT B 5 |
. ol @ Iy W OGSl Y B
SMHRAD MM DI ST 7 T8 3@m
SR |
TRITHT B U YoTell, 39 9 | 0
SinlSIIEE

Accrual system of accounting is also
known as :

86.

87.

87.

(A) 1S YuTTetl/Cash system

(B) SRS YoTell/Mercantile system

(C) WIfeT YUTrelT/Receipt system

(D) RSN YUlell/Government system

(B) + ARG Yolell 98 ¥ =W T
gferT | G KT BT AT Bl
MA@ ST<IRUT & TR D]

Tl

. YUR B 37T & BT AR AHT |
QIR Bl S=AROT A, JaT AT

1 & el o S B |

o JAHS YUl H IR FHE o — <A1
P forar T 1

o I gomett § wa u g B
HaT BT G UTT P N & STral
g e fawg — a%g BI g U<
R FEHN T

o MRA H RGN YOl BT Jamrd
Ped & | IHIUT TR TR TEE
R RBR BT G & R &%
PR B 31
BT IATHhA & foTu {5 erare JTg &1
YRART T ST &7
Which accounting standard is used for
depreciation accounting ?
(A) EIHT AT — 2/AS - 2
(B) T@IH JATT — 5/AS - 5
(C) TITHT AT — 6/AS - 6
(D) oT@I% JAY — 13/AS - 13
(C) + WP AMG TH foafad =ifd
AT B |
o QTR fIRISET AT ARG AT 3
e % gR1 ORI {6 S
& ST T AT, A9, TR,
SR R =i faaxen & faxha
BEIIRN P SR FAT 8 | I
BN <RI |
* RGBT 2 faxi fqaRor R
B G AGTHT FgERI A |
AT T S B | FR
HRAT B |
* QAGTHT YT 5 S7afy & I g
e A we, gd erafy w7 eiR
RGBT Il § gRac
« @HT G — 13 H A= &
forT orare famm i ¥ |

88. "M T g ¥ BRI SR TN WA B
ORI el TR <" 5 TR Bl MR T

The assumption that "Anticipate no profit
and provide for all losses" is based on :

(A) Sfearfad &1 gRarel/Convention of

conservatism

(B) TH™UAT &I GRYTE/Convention of
consistency

(C) 9=ar @1 gfurel/Convention of
materiality

(D) ot Y&l 1 IRUTE/Convention

of full disclosure

88. (A) » wfearedr & RIS § B &

AT Bl S & |

. fafm @ qem d B ara
SeaaH & fTg yraem ¥

« 9 WAl & AR Fadd &
UG TR R G TAS 9
T A 9 ugf™dl a1 gan
g ST =fRT | Uebveudr b
JRART FHEeTl & |

o FIRAT B IFURT B AR
TS ¥ e el gam
Jonre WU | Al B A1 |

o 39 IRERT & AR faxiiy faaxo
U SR & A1 AR T ST
IRY 3R I T armaegs T
TG I B IR Ieerd
BT TIRY | GehEIDhROT b IRART
PN &

89. Rer & T 12,00,000 (X 80,000 BN

@1 wfr B o) Uy g g e
% 1,200 9fY 38 IRacHEeT AFTa T 900
01 I fbed % 2,00,000 Fha FH- T
g &

Fixed cost ¥ 12,00,000 (including
depreciation ¥ 80,000) Selling Price per
unit ¥ 1,200 variable cost per unit I 900

Loan Installment ¥ 2,00,000. Cash Break
Even Point will be :

(A) 4367 SHIE/4367 units
(B) 4400 $P1E/4400 units
(C) 4000 SHTS/4000 units
(D) 4933 SHIS/4933 units

89. (B) -—fawws fog

ReRr <Ta

~ i g fawa g
x $PTs TRIcENe NTd

_ 1200000
300

= 4000 SPHISIT

TR | 15



qH—faese forvg = fagpar sreran Sare
%1 g8 A O IR 7 14 BT © A
A =, T-faees fog Feem 5|

90. fafoT & fore ffdar &

Tender for construction is an :

(A) <4 @1 A /Estimation of profit
(B) @RI &1 1A/ Estimation of cost
(C) fawa T H1 3FAM/Estimation of

selling price

(B) @I &1 3TFAM/Estimation of work

90. (B) * T STAM AN 3THer Uil

P S

* AN ST H Teb Uehel e el
BT ¢ IR 3IH UBAH Iy Heh
e B 9 &

« T BT AT Y TR, AR
T TSI T TI-YeR R & |

. fawa q=7: - sgwfa Ug
FaRre e I R g
& SiadIel & S H STAIT
Ig TN AT e F ¥ | gHA
TUET IRFHRT BT 9 TR 5
ST dTel @t Bl HIehy bl STl
gl

. Y A I9 ST BT T O
31T BT BRI T & R Bl By
@ fo1g sTawares A= STe o
faRIaTal &1 TEE R & |

91. AefeT & STAR SYHIGI B Tad Pl HER

T
According to Marshall the basis of
consumer surplus is :

(A) 9 AT YA ¥ /Law of
euqal-marginal utility

(B) |H STguTdl &1 f9/Law of equal
proportions

(C) M SUAfI g™ 9/ Law of
diminishing marginal utility

(D) gRaceie srgaral &1 ¥/ Law of

variable proportions

91. (C) » ™1 STAIRT g™ | U&

AR fRe T & |

- I8 9 SuHe & S9 I9ER
TR SneTRT & R SuHeT g1
[ERSICS I A CUR R G SE
SUHRT BRT TR ST STHAT
@ S aqrel a3 B shrAl
B AT SYATRICT STURKIR Tk
S B

16 | AGRAWAL =XAMCART

92.

92.

93.

. 9 — ST SR R Th
SUHIRT Fgerd H T4 B, 59
TS a D A TR @R
DA B AFUT T IR Dl
AHIT SUARET iR ST B
& YU & IRER 2 |
+ |AM AU B 7 & AR
RGN e I & b S T A K3 R
& U MREd SIAM | 37T —
ST 35T R & TN SHD FIHA
BT IFUR I AN T BAA & AT
TP DS Al OIS B & |
- gRadTRia ergura &1 frEw
STTPIeT o ST & |
Frafaet @1 YfeT B i glaar yam &
ST 8
Packing credit facility to exporters is
provided by :
(A) TR RTd ¥ gRT/Reserve Bank
of India
(B) RSP dehi gRT/Commercial Banks
(C) \EBRI 91 §RT/Co-operative Banks
(D) Fafe arg v TR=A A §RT1/ Export
Credit and Guarantee Corporation
(B) + 7T SRS ISR & AR &
BRI Bl AR BRAT & |
o IS S S Ih DT PBedl & S
G ST BRA, IR B TRy 0T
I Ol A Y& IR Tl 5%
IR AT ATIRATRID S Pad
2l
* RAIG R S IR 61 3refegasen
P RIS X & 98 R &
A ST BT A © |
Tq HRIGAT TEBINGT & IR
TR B &
o TRA A ferfics RT WRER
B ST T Sl AR Tt v
ORI Sl o1 AT o1 T
Y& PRl & |

T P YT BT MER T
The basis of Income Measurement is :
(A) T s/@ERo/Matching concept

(B) TIRATH S7afY STAERUI/ Accounting
Period concept

(C) H&T AU 3[LRUM/Money Measure-
ment concept

(D) @RTd 37gEROM/Cost concept

93.

94.

94.

(A) » @19 9 BN & T8 HeRo & fory
M I T Bl S PR 4 Ha
o ST STTaeaes & |

o AT B ATGS H SR e
AR & GIRT THT I & 3D
TN 8 |el 14 Bl e Rer 8T |

« oG GRADT § <Al Bl ordl
3 AT IR fhar e & o =9
- & Ty Ydh [REd
rafey & forg e &1 feior fdar
ST B 1 S B e erafy
IR Hal & |

* GS1 A9 LRV I§ AT 8
5 | RIS ATl BT
AR oAl Gl 3 o1 w9
H AT MY |

o AN B ATIRUN Tl oG >
TG IT Al D GERET H 37T
qrel A9 YIS Ud TS A
fier B B

T4 Fool B G H ilg BEARH © -
An enquiry regarding the value,

ownership, title, existence, and possession
of an asset is called :

(A) 99101/ Vouching

(B) ¥aTe+1/ Valuation
(C) |9/ Verification
(D) =87/ Investigation
(C) + 5 wwufcy 9 oy &l F=ars A
gfte AT |
- 5T 1 a1 wuafy &1 Rig &=,
YHTINGROT T T B Sird — Tedrel
BT |
o YAV B avg, afda srerar
TSH Dl FeT [ARSsi @l gfte
E2G AR ER A
* HATB a1 Teal ¥ fAerdr &4
- T@-3PA | I8 JUST B
Evaluation &% I @il o97d=oT
T WO el RN avg A eafe
& O B 3fH YSH BT & T8
& SR SAP o gAY | IRD
TP AR 9g A1 A BT T
PHRAT B
« YUl 98 & R U orema
M H gdl ST Sl oF dh
A T 37E B




95.

95s.

PR 37 BT T B, T 37 S

Right shares means those shares which
are :

(A) Tt @1 i fasw 1 B/ Issued to

directors
(B) acHe SrerenRal o1 g fBdr
Bi/Offered to existing shareholders

(C) Ta™ FoTaHALTRAT B gRAT A
fsd @ =/ /Offered to existing
debentureholders

(D) HH & SFGRI BT T {63 1 2/
Issued to creditors of the company

(B) * SIf¥®HR 37%T I8 B & S fb &

TS 2T B gl HRar B
TN BT ATHIRT U 6T S7era] TAH
391 & Sifdpd Hou W e )
I IR@fora fbd T W 9M,
[AT TR DT ATHIRT YA
H I P ATPR BT |

o AfER 37l H Newd B A
T8 foa ST % |

o AfIPBR ST H I FOTIHENRAT
DI YA & T e &

- TGRS H HFIA & TFaRI
Pl f3Ta =181 fopar i &

96. TRI=T0T Yfcha Hafe Bl & -

96.

The process of controlling is concerned
with :

(A) IR a1 & A9 ¥/ Measure-
ment of the actual performance
(B) AMdT & THeROT /Setting up of
standards
(C) Tt & arfHeviia |/ Assigning the
tasks
(D) weat @ feiRa B | /Deter-
mination of goals
(A) » =101 yfhar g &A@
P T B D A1 Yo o 8
A TSC Y] DT AU TRomH
Pl T IRAT AR S AFISHD
AR PI T AT T
« =0T gfthan 9 el weel &
A arftregar famam ST ¥ |
« fsIe e @ WM dred!
AT —a%g |G S el oRi—
IEH, ANA—sad 3 & i
AREH & ©F F B el & |

3 FERT e B B |
. e B HERT BT BT AR

Ig B fob Ya=eIeh gIRT 18] Bl 9T
TR B ST W T gawe fy

ST gD &l

97. AfRYT &1 Z-Rigra ufarfed fsar T

7

Z-theory of motivation was propounded
by :

(A) T, S, <TeR §RI/F. W. Taylor
(B) &1 SfI gR1/Keith Davis

(C) va. U%. 3fd& gRI/L. F. Urwick
(D) e §HR §R1/Peter Drucker

97. (C) * V. U%. Sfad e fafesr yaem

TARHR AR ARG faR®
|

* A, UP. 3P ¥ 1943 HYHIRIT ‘T
D T gHTaRIel JRIP ol |
P B SR IYTF TIEA
IfeprT AR qHIDHT B ST
T ST B |

. DY W Yoicrs T AT
RaATST o i =girers & fordy Wel
ofr |

o 4R R TP SRS Y=
FARHR, T1eTH v9 ogd 91
HeTd: SRS o faRT & | e
Rren & i & & 9 5o g
forar | =N oedl gRT yseH
D BRI T |

98. "RIHT a1 SIud BT T, S & T8

T&T H B & | I8 HUF AT el Bl ¢

“Higher the ratio, the more favourable it

is.” This statement does not apply with

respect to :

(A) B9 37 U B FaY H/Stock
Turnover Ratio

(B) Yg ¥ UM & e H/Net Profit
Ratio

(C) T o9 U & 98 H/Gross
Profit Ratio

(D) IRTTAT U & Hae H/Operating
Ratio

98. (D) » ¥E STIUT HATAT AR Td

HATer @RI @ AT 90 g fawa
& g | YPHT B & |

_ ¥ B AT + T FETeT I

99.

99.

100.

100.

o AT U /ARETe

x100

g T

o« 19 w=en &1 g Y U
a1 9 BT, S9 ¥R @F
ATHERIS &A1 Sal &l ERIe AT
SIRAT, g A AU P ¢© |

o FPHel A9 U I UfR H
Yahe T ST B | I o fS7as
NP BT IR Bl FTHETIT
I & <Ffere B |

* WY T IFI | goiaan [T
s I fom fae 1t & B |

SERRIRCICRRCh RG]

S & @rTa

3 xefoan

ol AR A1 | oy M e @t
AT BT E
The sum of deviations taken from the
arithmetic mean of a series is :
(A) 3/ Zero
(B) &M% /Positive
(C) =omH® /Negative
(D) (B) Q2 (C) &Fi/Both (B) and (C)
(A) » IO TT AR F TR AT
T & St B S TaRy B
TS ORI A9 2 |
9 S AN TBR & A | ST
PRI Y ST B Al 39 FHRR
e FEd & |
« il siger S fardhl T1e S Feprl
T fage™l & SIS & GHIAR A1
P A1eY g Fad B |
. f ga=R W1em @ o) W
fa=reri @1 AT g & B S

o g ¥ gfg B W :
Are increase in sales price :
(A) F-faese fiwg U= P1g W 78l e/
Does not affect Break-Even Point
(B) \wH-faeo= fo=g ¥ 21 ST &/ Lowers
Break-Even Point
(C) w9-fdweq fdg 9¢ W ©/Raises
Break-Even Point
(D) I T | ¥ B IR 8/ Lowers net
profit
(B) + A% aryar SdEH @ a8 A
9 T o9 & 9 & g, 99—
e g Feaa B

R | 17



. 39 o5 R g o B A
& SRR BN ¢ 1 39 fog | A
fapa ererr ST BRA R BN
BN & AR A g 4 s areran
SIS 3ffereh foham ST & o a9
BT |

* g Y Tb YBR Bl 3 IT 1Y
T S foel 9 1 99 9 fawd
B qTe] DT B B dlel T
BT & e 1

+ fasa e g A avg R 7o
TR A S 8 A S e BT 9
T B [Ipa— g el S ¢ |

101. 98 WA S {50 =i @ & B &

Ry Y e R B, FeARN B

The force that drives a person to take
action is called :

(A) 9§+e-T/Management
(B) T4 /Directing
(C) f7a=v1/Controlling
(D) IR/ Motivation

101. (D) + M FaeR & forv Wrefed

HRAT, STRFH BT, ST RG] T
TN Y& BRAT SRR B
Bl

« RO AT IFHYROT I wfe & SN
fRT & BRI BT T YT BRell
Bl

o JEEE CAIHG 1edl, Seedl
IR fARF B U A B o
| GHEAT BT ST R A
6T @ el @ YAl @l
=0T & ufesar B 1

« e ve uferan & s oIgaR
U T DT TR G&T bl ST
& T % 98 o wo e
A Y SIS ORI & b
3R frseps T g a7 el
P YT IR D |

o YSvED B ERI ST D ALl
Pl Y B D g e HR
% fsaes @1 RRE BRar |
oo e § s @& wR
iR {53 S &, e fsares
I HTTT ST B |

102. 191, 2018 & IR fo T AUR &Y

MY &1 Y e g wx g af ¥
B, 9B ®

18 | AGRAWAL =XAMCART

102.

103.

103.

104.

Income from business commenced on
15t March, 2018 will be assessed in the
assessment year :

(A) 2017 - 18 (B) 2018 - 19
(C) 2019 -20 (D) 2020 - 21
(B) * 19T, 2018 BT YR ) T <qR

B M B B FuRe R B
frgiRor af § @ 98 2018-19 % |

« o fochr o 9 9= I o g
T 9GP o7l faxig 99 @l @Y
fyeiRor 9 wl ST B

o O TR 99 2018-19 § HY Iy
I B for Hr Ry a9 fa=ig
qY 2019-20 BT |

o B} YR a8 o1 JfIIR 12 A
B S A | & S S 1 i &
YRFT BIHR AN a8 &1 31 A/
BT AT BT & | BRI GRT DX
fraiRor a8 7 e 1 oy b HATE
T ST B YA ST Bl 8 |

AR & FAIT R BIROT 8 FHal &,
EEA

The partnership may come to an end due
to the :

(A) HAT¥IER &1 9/ Death of a partner

(B) ol weieR @1 fearfaar i1/

Insolvency of a partner

(C) ¥ \WTIGRI &l HEART §RT/Consent

of all partners
(D) Suga |/ All of the above
(D) * WRIGRI & TG ARIERI &I
g, Tl wreer) @1 fearfern
BET 9 9 AR &I e
BRI BT &
o NITEIERI BT T Y AEER 6
Y9 B FRT AR AEERI B 7Y
o9 fI9re srgud # uRads &
HROT 9T B el B |
o RN B FHIT BRI AR
1 G B IR B 9T B |
« WEIEN B GO T §RT
Tl eR @1 fearferan =nfia
BY R AT 2 T B
o NI YR WER g gN
NATEIERY BT TS BT & SR YR
TRER T §RT 12T \edfa
1 % P faeres foar S a3 |

PR gfafMemaT o w9 aRs gaH
IRATE

While delegating authority a supervisor
delegates :

104.

105.

105.

(A) B9 3TYBR/Only authority

(B) @feR vd SaRald<d/ Authority and
responsibility

(C) PR, STRIMIE Td IJax<gd1/

Authority, responsibility and
accountability
(D) STRETRITd U9 IR_IAT/

Responsibility and accountability

(B) » TR fHll & UNT B ATPR 7,

N 98 T Tb SADT SYHRT el PR
el SIS b SANT U &I B
4 H I SAfIBR BT &R T BN |

. 39 R ¥ SR SR SRk
T & e B &1 U8 B |

* PR A WU F EHIN Sferdl
T <1aT & R 3hfaer Rig & |

. IYFR SR Fei A TH-gER
& WX ¥ | AR Al ST e
T T PRAT & Al &7 bl T
e 9 G B4 B SR |

* ITRIAT AR gfee | et §T
TN = H AP B Fhd ¢ |

feRad § & D @ Tewd aml H

faRra 781§ ?

Which among the following is not a

property of indifference curves ?

(A) AT Th Teb—gAX Bl &l Bl
Iod /Indifference curves cannot
intersect each other

(B) TeEAdl 9% B YAD fag FAN
|gfic eI &/Every point of an

indifference curve shows equal
satisfaction

(C) Tcxed 9% Aad o fog & &R
AdIe} B §/Indifference curves are,
always concave to the origin

(D) eI a% AT &l B Ta B/
Indifference curves do not touch the
axis

(C) + Tl 9% fHdl SUHTFA &

IER BN I aTell 96 & |

o o fo0 T T @ fhdl 0
fiig TR QU BT TS B drell
SUHRT ARET ¥ A AT I
B

o IS qh Th—gHR PI U T8l
Pred
X LLL;



106.

106.

107.

107.

* TN 9P B YD =g FHM
Fegfie Ui & | Tewerdl 9% wad
A fog &1 3IR & SRR B & |

* TICEAT ah 7Y &l Bl TE B
& | TCTRATT T BN N T el
BT IR &St o Tl e S |

fafrarr &1 9l & gearq enes B
AT Ty T 2 BRI T ST s ¢

After sale of investment the balance

of sinking fund investment account is

transferred to :

(A) AH-8IT @ H /Profit and loss
account

(B) IS ¥99 W@ #/Capital reserve
account

(C) Tee ®IY W ¥ /Sinking fund

account
(D) 9 @I #/Debentures account
(C) + NS PIY H ST DT Bl =TS
YOI VR TR et St 51

- 39 Refd # e &1 ga i
ARl 78 W Ry g9 5
Fa9Ts BTN H IARYRS F 7 |

- 9T A ' BT FhA & (P
JARIAD @Il & AT T
T & I ATH—BI W # foran
S B S BHiee I B A gg A
forgex Sfoe yer # <= o &
IR = B B TG H |

o gl F=i B qoia e § ¥
IR ST &

« SROIGS ST YT U qd fAfdera
fafr &1 o1 v HfRaa fafsr
IR & 9% DX AT e B

AR B TRl B T VY @raen
o ol 99 & YAS Tegel @
Af¥erE fll T afda g1 a8 fosan
ST, PEAT

An arrangement of staff duties whereby
no one person is allowed to record every
aspect of a transaction is called :

(A) 3M=<iRe® WINT/Internal Administra-
tion

(B) ST=iRR@ UM/ Internal Check

(C) eI 37HeET0T/Internal Audit

(D) ST=<IR Ya=&/ Internal Management

(B) » SMTIR® IHAM TH YUl &
STt =07 graaReT 3R wfar
e Bl B |

o Sl IS Bl ARG ST D
YT HRA | FES BRal B

- {5 &= 7 fafdre o an fea
A9 GG AR B g
HET Il & |

. TP A B FEE-—feaE @
AT UR S9® ddd W
3THETUT B & |

o IM=IR® Ya~ed fHal = a1
e ® WX A%l o el ©
e T8 I Ieed WRI W)
HHATRAT B Axfed, IRT T
RNECICE G B SR RS E G
UMEd W Y& HRAT & |

108. Tl A= Sewa &1 gfef & forw o1 S

qrel fafd=T feparati & oy wenfid o=
TN ATl SR Y& & I A AHfed
I H TR PR BT P I B

An orderly arrangement of group efforts

to provide unity of action in the pursuit
of common goals is called :

(A) f4de/Direction

(B) 9"/ Co-ordination
(C) =31/ Control

(D) fuR/Decision making

108. (B) » 999 &l wMfeads o1ef & Ager

eTfue R |

- faiRa @eg & gfid =g Rl
wfyfaferal & wwoeg wenfua
BT |

- e 98 i &, s g
IfeRT BT ABRIT BT ST T
H T g FEfad B e B
&3 W ST AP BT AT |
AR YT B & |

* IR FRI=10T |G BH H G
AT % | =07 Tretfery o1 it
H Aqg Bl B |

« ol o1 wew Y% aRRafa A
yarad g1 ford T ol wd
B =Y e ot Sewy b gfd
&g fofg ford T & S=7eh el B
=1fey |

109. T T IS B IRTY PR & fasma=

TR o T WY IR 9 T faan
ST 8

Heavy initial expenditure on advertising
to introduce a new product is classified as :

109.

(A)Yeifd =@ & w9 #/Capital
expenditure

(B) P &9 & w9 ¥/Revenue
expenditure

(C) oM ¥ <@ & w9 H/Deemed
liability
(D) ¥R ST =g & w9 H/Deferred
revenue expenditure
(D) » STITA < e ST &3
99T T Y&l & 9 WIrRT Sfer B
¥ TIfid SR & hed B |

- 38 98T # DRE (Deferred
Revenue Expenditure) ®@l STl
Bl

o W G FTIH1 1 Teb & eigieh
I H YIe B I ¥ SR 3D
AT oY =T & RTIR B A
3TST &THTT H 31T IS FEfrl
¥ gfeg T8 BN & ST T Hed!
Bl

o W I RTGPT AT U & i I8
T YT 7 BIb] IS H B3 anf Ih
Heran & Yo =93 FEeT ¢ |

o HM TR IIRRT & F 99 IRRT ©
S TFERI Bl WA H <7 B

110. <7 TRV B AT HRATHD GG DA ©

110.

A functional relationship between two
variables is called :

(A) TTEsae fagerur/Correlation Analysis
(B) BTa—Hol1 fealsIoT/ Time series
Analysis
(C) g<TgITAT fgead 0T/ Regression
Analysis
(D) TUT A&/ Association Attributes
(C) + YT fagelsor ax & 919
ARSI gferar T |
BT TH AT |
« EIaY faveryur |1 ) & g |ae
] ATH Bl J—THT BRA D o1
fpar ST B |
I TR B e BT FARAT FIHH
f HreT—3of FHEeTar B |
YU I T I TR iR
IO H ATEEd T HEEA B |

TR | 19



111.

111.

112.

112.

113.

20

s ol @1 98 AW O PR &
AT & W A R S W g,
PEAI & -

The portion of uncalled capital that can

be called up only on winding up of the
company is known as :

(A) 31erd qoll/ Authorised capital
(B) Fifra gSit/Issued capital
(C) 9rfeid goM/Subscribed capital
(D) |ferd Yol/Reserve capital
AT & | T AT vt & faeresy
TR & B AR B |
AT IR Bl 8 |
o Aferpa ol B stferepes IR a8
& S RRERST B HH H fyaeT
P B o SAfergpa B |
AN & S ST & 37T Y RIE
& Seed ¥ fAvifaa fosam e v
« I8 fifAa gl &1 a8 91 & R
ST &)1 < form T g | At wege
@ SRISN B SR |

9 =, <1 o fooel a%g & 9 oM &
forg fg I B, S 9 ©
the expenses which are incurred to
increase the demand of the product are
known as :
(A) 3T =9 /Selling expenses
(B) fe=u1 =141/ Distribution expenses
(C) (A) 3R (B) @Fi/Both (A) and (B)
(D) T @ (A) &R T & (B)/Neither (A)
nor (B)
(A) + 3 =@ S & ol axg @1 A
e & ford Rl oIy & st =3
S I B
. feh TEEd R FHARAT Afeq
I AR A B o T o
JqHT 3R FHANI |
o e 2 A @ ST & R
3 9] T IP g b fHd
T 9 @ BT IR B ¢
T T AR D 99 TR fbefl qeafy &
I3 3 g gfg 1 B v o @

On admission of a new partner increase
in the value of an asset is credited to :

| AGRAWAL =XAMCART

(A) R WEERN @ gl @ #§/01d

Partner's Capital Account

(B) g7 e W #/Revaluation

Account

(C) ¥Ry W1 #/Assets Account
(D) 941 AEERT & Yol @ #/All

Partner's Capital Account

113. (A) » T&h T FEHER & a9 O foel

A & 3 W g 9fg DR
AHERT & Yoil @ 3 e fa
ST & |

o T ARIER Th T GHSAN B FEH
T HH T IS Bl Il & |

s gTHSATHT Wl FEREl B
e dul qIRfkdl @
AR R B9 9Tt 19 3ferar
B DT 1 DR B ST N IR
ST & |

« FHRT gIer B VIR B ' S
BT eraer Ukl & arl §RT S
JHIRT & I B AR e
ST & |

o T% T AEER & Y99 IR fH
qHRT & e # g1 gfg B A
AEIRR & Yol @R H el fam
ST & |

114. gREN AR | I

Margin of safety means :

(A) IRa 99 79 F&T AN B 3R
3/Difference between actual sales
and total cost

(B) ar<ifa® fagg va uRaceiier arta

H 3R ‘\ﬁr/ Difference between actual
sales and variable cost

(C) I Iy va ReR AN & <R
3/Difference between actual sales
and fixed cost

(D) Ir=afde fawa va ww—fawos fIwa &

3} 9/Difference between actual
sales and Break-Even sales

114. (D) « GR&T A1 9 T IR<fdas faga

T - fIe0T Iy & SR A B |
* GRET A1 b =0T S1&] !
FART B ATH B H FETB
B B

* qo AR B o & Gl Scra
F S g & I B B |

B T O SWET @ FH B AT

ST A1 fiega 9 89 W) ReRr
&

o S AT STe WX H IRad B
TR 95 o< & | 99 IRaa=eie
AN e & |

115. FHSA ATH SFATT BT TOFT B S & -

115.

Gross Profit Ratio is calculated by :
b oAlH
EZAEER

Gross Profit
Gross Sales

(A) x100 &1/

x100

THA AT
% fawa

Gross Profit N
Net Sales

(B) x100 &1/

100

©) %g;xloo ELU

Gross Sales
REZGRCIIRSE
g fasa
Gross Receipts
Net Sales

(B) el TN U

_ SPTAH 00 gt
- gs e

x100
(D) x100 &R/

x100

Ahe ATH I8 H & Sl U Hra
AT SAET BT g9 SR T
&I AR H HER B B 91K Al
T A Y& A | J& ANl
T BN B & | Dl AT B B
I faqaRoT R s < &R s¥a
T TG!S T8 IR 3T DT AT
P 9T T 100 IO B IR FHebred
ST B

116. GIAHTH] P & AT ST S -

116.

Index numbers are expressed in :

(A) 3TUTT #/Ratio

(B) Ufrera #/Percentage

(C) @ #/Square

(D) SarS H/Combination

(B) * aHI® A& gRaci B gfrerd
P ®Y H AR BT T

o AP B A B W gRaT

BT A9 & forg ff ST F AR
KINEANECRL LR R KR |
& PR FHhd |



o EBID DI FIUM H Fad &
T ST | B |

* [APBIP] Pl I H Ja el 1Hal
S el & |

* AP Bl FASH H g el
o < Far B I

117. 9EER & Ted & o AEERl & 987

117.

foRaa srgey weer ¢ -
The written agreement between the
partners to form a partnership is called :

(A) TAMEH T G951/ Certificate of
Incorporation

(B) ursfg 1 ¥/ Memorandum of

Association

©) wH ® fmio @ gt/

Certification of Formation of Firm

(D) WTSIERI Werd/Partnership Deed
D)+

TSR] G Uh AT ams]

NEEISIR SR

« A B B I & SR I8
[IA™ B T H AENRRT BT
ARTERH & & fory feas faan
T E

o FHAMAT & GHIOT — T3 D AT
H B & IR ® HIUT & w4
H o ST Ao & |

o TS AT R BT 6 A o
aiRa oxar &l

« ARG HH & TolIaRYl o Aaa
T B B GHEY B oy iR
qoTIhROT B, AISIGRT © T&dH,

TV 3R R & YHRI 21 T
THIOT SMfeT B A1y |

118. FrAfIRad 3 ¥ SF—1 AH—ATA AT

118.

(P/V Ratio) 1 3 7781 & ?
Which of the following is not a formula
of P/V Ratio ?

x100

(A) P/V Ratio =

Profit

B) P./V Ratio = x100
(B) atio MOS

(C) P/V Ratio
_ Change in Profit

~ Change in Total Cost

(D) P/V Ratio = 100

—x
BEP (%)
(C) P/V Ratio

Change in Profit

= : 100
Change in Total Cost

119.

119.

G/dY T, et <61 7 # aRac=
P PR AT P YRAGT BT &% B
Y & | I8 ATHIGT Bl UM & g
He@qul UMl # | TP © Hifh
g fol & |Gay 7 ARTT INTE B
ST BT B |
e Sgifae faarur & emia aged®
farerer, gaTq fa=rer @1 2/3 8T ® ?
Under which theoretical distribution,
the quartile deviation is 2/3 of Standard
Deviation ?
(A) fgu= faa=o1/Binomial Distribution
(B) 9 fdaxuT/Normal Distribution
(C) dras fqaxuT/Poission Distribution
(D) I158e faa=ur/Random Distribution
(B) * I fAQIRUT ] UTRIehdl S
%l
« T fIARUT 98 § S Ypia A
ATHIRIC: TRIT STl & |
- fgue faaRur a8 ¥ foH IR—SR
TRIETOT Bl FHTGHT BT ST et
ST & |
« 1IN f9aR0T U REd oty &
Y ARG & B aTell a0
AT Bl Rl <1 & |
o TART § STel Sb! AHRT FAHTEAT
B AT ST YR FYa T 3
faaRa agfes faavu & w9 4
ST ST & |

120. R & fopaTcad vTe+ § Tl AR

In Taylor's functional organisation, 'gang

boss':

(A) B & TTUIET B Sifd BRaT B/
Inspects quality of work

(B) 3m_eT 9 e SINT &Rl B/Issues

orders and instructions

(C) SUBRYT g M IR BRAN &/Set
up tools and machines
(D) ST& AT & FgiRor & o siies

Haferd @xal &/Compiles data for
ascertainment of cost of production

120. (C) + 2ol ARG Siffd & SR Af¥ed

BRAT & qAT 3MATAD AT TG
I 3N BT AT IR & |

« B B IUIE H S BRAT TS B
5 PIE ST A1 PIE HaT SIS
B T B |

« TR B fopureTd |Ted H el
IEE B BT H AR I A
ST <&} febar i ¥ |

121.

121.

* TR S HAIAD TS H eIl A1
BT STEH NI & ek & fery
3ffers AHferd el fhd O B
U1 SJURT T JIE ¢ -
The Debt-Equity Ratio is a test of :
(A) A9 B/ Profitability
(B) & B1/Solvency
(C) TReram &1/Liquidity

(D) Y=g HrRIGRIA %1/Managerial
efficiency

(B) * TNE & U
% o <R
H FEIRar

o YT P NG &l A ST
I T MA@ B A A
B AT A B

« T ITIUT ST BT < AL
AT BN B AT B HET FF=e]
Pl 1T B |

+ B YU IRA FHRMAT TF TRA
IR B S el AT BRa
T

o YU YEY HT G T B Pl
PR, fparell @ R FA TG
ST BT T BRI B |

122. ScUET NG BT ®

Cost of production is :

(A) & AN + BREMT SURY/Prime
cost + Factory overheads

(B) BREMI AN + YINIG SuReyd/
Factory cost + Administrative
overheads

(C) JT&l <ITd + 9T & &/ Direct cost
+ Indirect expenses

(D) ¥t NI + YeRIf-ieh SURed/Prime

cost + Administrative overheads

122. (B) + SdEA AFK &l o a8 &

IUEA & SR 9 TR T &I TS
G IR BT A AR el A & |

* SO P G B & oi— Hed A1e
R G, TN B Il Bl T |3
T @ bl ey i i B &
S ST AT hal Sl & |

« A AN + BREH SUREY =
BRET AT

o UJE CINId + YIE FY = Rl
ANTd

* A AN + YRR SuRegy =
SuRe

TR | 21



123. %97 931 & MG P G 0T MG DY

WA B Y Pl SR (haT ST &

After redemption of debentures, the
balance of Sinking Fund Account is
transferred to :

(A) I 9T @I %/ General Reserve
Account

(B) 4Tl W= W@ #/Capital Reserve
Account

(C) SMH—2T @ ¥/Profit and Loss
Account

(D) FOT-95 @I #/Debenture Account

123. (A) « 9MFY 999 @R H BRA BT

THCH B ¢ |

o S foRT sreferaven # faaeh g
H orge o Rafd 3 Ry aTs.
ST TOIRIAT & U SRINGE Rofd
39 919 & A R e ©
TRBR faaeh =R & G0 )
A B |

o o S5 @1 fmior Goinra ey
ITYAT SRFTT ATH | ¥ fopan Siran
Bl

- H-—a wa | e ol
M BT H SART B
R AH—8 e @mar @
ERATING T ST & |

22 | AGRAWAL =XAMCART

o KUY, 0T I 3R B B
9 e ey B B, S
ST BT ROTETT & fory T
U1 I TS Hied YT B Bl
EERictIR

124. IMRR AAIH, 1961 & I FX DI

AR AR B &

Under Income Tax Act, 1961 incidence
of taxation depends on :

(A) MR 9=/ Citizenship

(B) 3mg ux/Age

(C) farg &1 Rerfy 9/ Residential status
(D) T 9X/Gender

124. (C) + fars @1 Reifd o= &1 7o & &

PBIS AfRT R BT FaRY & A1
T |

« O & Ry 9% 3R 98 WRA
B AR & 9 S gHHH W)
CEHT DTG 3T TID A DI
SIRAT |

« AIRET e ARy |EiTe
XTSI, TSR AT /I9a e
YA B TP MRS B Bl
aFaeAT ¥ |

* 3R TR AT IR FA < ST |

- form = AfRensi & Uiy fady wu
) faqur fopan gt & ferg fagor
1 eI W AP FEM B Hhll &
SRICUEACICISIE N ISR

125. BraA—Aol fagersor & sr=rta v frafia

TG 3Naferes Faer Sl U 99 3 371 Bl
A 81, BEA &

Under Time-Series Analysis regular and
periodic moment not exceeding one year
is called :

(A) 9gRI/Trend

(B) =h™ UREc/Circular Variation
(C) e afia waed/Irregular Moment
(D) AT gRacdH/Seasonal Variation

125. (D) « Al gRac gfer erer, gfofes ar

TS & et &

- g oRads A fafa qen
THHYT ¥ Ted — 9ad o
TaTerd UReTHT va foRi Rafa &
LTI Bl Th TP T |

o AT Saa sl SR
& ¥ &R v AT Yes 9 ¥

« P IRadT AgRED TR B
SARF BT & Sl TPpfal  SAaferD
T



